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Darken the appropriate circles of 1,2,3 or 4 in the oMR sheet corresponding to correct or the

most appropriate answer to the concemed question number in the sheet. Darkening of more than

one circle against any question automatically gets invalidated.

Rough work should be done only in the space provided for this purpose in the Question Papel Booklet.
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Retum the OMRAnswer Sheet to the Invigilator before leaving the examination hall. Failure to

retum the OMR is liable for criminal action. The Question Paper Booklet shall be taken away by

the candidate and should be preserved till the declaration of results.

Filled-in application form shall be submitted to the invigilator in the examination hall. In case of

SC/ST candidates who have not fumished the caste application number in online application form,
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Time : 3 Hours

Instructions:

(i) Each question carries one mark.

$>3 gXrd;5c a,5 i.rdr6 5o6:.
(ii) Choose the correct or most appropriate answer from the given options to the following questions

and darken, with blue/black bafl point pen the corresponding digit r,2, 3 or 4 in the circle
pertaining to the question number conbemed in the oMR Answer Sheet, separately supplied to
you.

6r$$ a03S $rO t!:{;5c a5ga:&S 6r.eid 30615 i:$,-q.S$o5c JScISC o.CC
5c.,)od esoB 1,2, 

1dg 4 ddcm a')r15 oMR bS;-q.S r:ps.::d [:{;dcboaoQoSS 5oq:gt{e.: roe355c gr/Hng ar. d }o::oe5 -oS:y AX:eraoS Cob$ES:.

BOTANY

1. Identify the correct pair of combinations

(I) Zeatn 
- Adenine derivative 

- Overcoming apical dominance

(ID CzH+ 
- Indole compound 

- 
Effective in fruit ripening

(III) ABA 
- Carotenoid derivative 

- 
Induction of parthenocarpy

(IV) GA, 
- Terpene 

- 
Bolting in cabbage

566cS d.:dao""p tfo ad5.: tlcOorJo&.

(D dc$;.e35 
- 

cp&55 6d3$1$o 
- egn"edge55c d{6-6o.o::

(lI) C2H4 
- ao64d dr.BSSJr _ 6er"q i>Oi>d565c Sir.do

(III)ABA* Ed6o"or6 a"y;S;S':: _ esCdS "q:o5 fodea

(IV)GA3 
- o6;5 

- s"ded a$go6

(r) (r, rn) (2) (rLIV) r{ a.wt (4) (rrr, IV)

Marks : 160

Rough Work
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A
List-II

Study the following lists

List-I

(A) Munch

(B) Darwin

(C) Cousins

(D) Levitt

0)

(ID

0r)
(IV)

(v)

6.l lBoO e-Ds"o$o es{5c$:So

a;'DeE"-I

(A) 5::oS (I)

(B) o"035 0I)
(c) sdSJ Grr)

(D) EDeS GV)

(v)

The correct match is

ab bo6:5 d6oxp

(A) (B) (c)

(1) (m) ry) G)

(2) (rv) (v) (D

t3) (\ ) UrI) (rr)

(4) (rr) (r) (IV)

Stomatal movement

Hastened fruit ripening by volatiles

Growth of coleoptiles towards light

Nature of enzyme action

Bidirectional transport in phloem

JcD)o6

ar'Oo"-Il

X>16 dopo.o .'5o5o

a-ir;&o iro.o-s$ s 6o"o b55.5dnd$o$do

@o$:d 5ot5:55:: s.o0 6dn" -odtl6o

JSEfu r5o"5 65+-5o

dr{& 5 Seaa-sod a3a{ d o.ea"

(D)

OD

(ID

(r)

(v)

3. What is the type of nutrition in purple and green sulphur bacteria ?

(1) Photoautotrophic

(3) Photoheterotrophic

(1) ro& 55o5co dt{"odo

(3) s-o & -o d dr""r 6 o

(9) Chemoautotropic

(4) Chemoheterotrophic

(2) dlc$c5 X>5c$co dr6'a d o

(4) di"c$cS irddt{""relo

"o dc;el $o0 cS:: e5cX:l5; X:o;6 ar"€ O c$rS,:e. d 'a eo dSo 5a f

Rough Work
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4. Study the following lists

List-I

Viroid infecting tomato Plant

TMV

Polio virus

Lentiviny;---/

€r poa e'Do"o5o erd5o5:5o Jo$oa

?r.as"-I

(A) ir$-cS a>53"So bol5aood tso'o>E

(B) rMv
(C) dr6OEJ- pd5

@) 6oel 6dS

The correct match is

a6 X>06c$ deoXP

(A) (B) (c)

{r) (D (l) (IV)

(2) oID (I) (IV)

(3) (ID 0v) (v)

(4) (I) (v) (u)

List-II

(I) 6,500 nucleotides

(II) 300-400 nucleotides

(IV) Many sided

(V) Prion

a*A@'-ll

(D 6500 S:.5$arP6oe:>

(II) 300-400 Sr5$d:.-6t6:er>

(III) Eodo $fu"i:56 ale RNA ereo$e>

(IV) arirt$>Po

(V) foosl.S

(A)

(B)

(c)

(D)

\D Two identical molecules of RNA

(D)

0ry
(ID

0)

OD

A cross between pure breeding plant with red dots on leaves and pure breeding white dotted

plant produces h"terozygote.liat have both red and white dots On self pollination of F"

what fraction of plants show both rql- and white dots on the leaves ?

'o1o"o 5.:d Jdo'q;d.ol{c $c..l;ocS; dc{ a::56!; Ee':cigdorlo sc'53oc5; {cd

B.,:sr S SoSdeoo dcilcn' "lLxp 

*stol:"' 
EocQ; $o$;oc 3od;- 65; D{r$c

'u
cs,::rl3r.e.l: 6e530 tscsczcgno",. i, 'f 551-1 ''r:5d&; d"o5f36c {:g"o 5cd

":Ac'41 
fcoc*, 

"e.rr'O $ri;o. eod:" a5; B::53'e; E l(o (fraction; Jo'!z

(1) 1t2 Q) tl4 Q) 2t3 (4) 3t4(P r/2

Rough Work
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A
produced for a pair of characters in a monohybrid test

SOn$o6$ 5g Sogdod i>6g. .ooddeoo So JCy dJ{gdJ"{>

(2) 4 (3) 1 (4) 3

How many phenotypic classes are

cross ?

a,5 ad o$er.oc

ds-el S i-o.>: ?

(D2

t
a

I

7. Study the following lists

List-I l

(A) Operon

(B) Operator

(C) Promoter

(D) Repressor

& lBoA as.Ds'o$o e{gcno5o
a*Ee.-I

(A) a"-oo"5

(B) esbdoE

(c) pBr.o6
(D) Eg-o&6

5oq:gS.: 5$cffSc$.r:.
(1) 8

DNA Bodo dr-ioc l5Ns dar:el dcscar&$ J.yJdBrour" s4Es,
SrOg $u"6c uJo.o $d$ A5d,:e3S;eJ(>d*.&. $$.dS 6d;df

List-II
(I) Binding of repressor proteins

(ID Binding of RNA polymerase

(III) Inactivated by inducer

(IV) Binding to polynucleotide phosphorylase

(V) Polycistronic structural gene regulation

!J cD)o (o

a.As.-II
(D E1-":$6 6fe55 a:oedsogr:
(ID RNA Joiod€ aroe6soge:
(lII) fodSod D6gd5o dcroer6:6oa
(IV) $05J.Egdl.65 ft);odf$: aoe6$ogc.:
(V) &Ob&7CS Co"3ea a3:5O Dc$:og6ea

The correct match is

aB 5BGc5 dao4;
(A) (B) (c)

(1) (rv) 0D (r)

(2) (rrD ry) GV)
(3) (rD GV) (rrD

) (v) (r) (rD

8. Escherichia coii, in which both the strands of DNA are labelled with l5N is transl-erred to
l4N medium and allowed to replicate for three generations. Find out the number of hybrid
DNA.$slecrrlec in rhe third generarion. --

(3) 12

laN at., cE,r.S SodB
"oo5d DNA ereocdc:

(4) 10

Rough Work ,a- \\ \ \ \
' r\d&

(D)

OD

(D

(v)
(rrr)

\t -f
(-
M 

--\9,,e -u
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9. A DNA segment has AGA GCA ATA CCA ACA ACC nucleotides in a sequence' The

segment of polypeptide chain synthesized from this DNA through mRNA has the following

aminoacid sequence

a,5 DNA po66od APAGCA ATACCA Apx A€e erd sJ-g$-{g!o. slrlsfoet'
6r.)0o. & DNA Jco& mRNA o"3o'' Sod'"ro.Jo&$- $O-o=odc fferX>;eff

epEc$ es 5r-o $dcbp5$co & S{on' 6-')0$
(1) Arg - Tyr - Ser - Cys - Trp-- Gll
(/) Ser - Arg - Tyr - Gly/- CYt'- TrP

(3) Cys - Trp - Ser - Gll- Arg - Arg

(4) Ty;,* Cys - Trp - Ser - Gfy - Arg

10. Study the following lists

List-I

(A) . Cellulase

(B) Chitinase

(C) Lysozyme

(D) Protease

& $oA ar"Do"o5o es{gc$So dc$oa
ar.Ee.-I

(A) -oo5d€
(B) prr3€
(c) 9.r6E5;
(D) ldr8d:5

The correct match is

aB 506cS dao:p
(A) (B) (c)

<tf<td 6 (r)

(2) (Ly-- (D (rv)

(3) (v) (D GII)

(4) (v) (IV) (I)

List-II

(I) Cell wall of bacteria

(II) Cell wall of plant cells

(III) Proteins

(IV) Cell wall of fungal cells

(v) RNA

at D@-II

(D o.$ool:.o 5ea55'5o

(II) 451 {ea"o 5e055.5o

(III) 1dre35o:
(IV) 80o16 Seo"o Seo5S'Jo

(v) RNA

(D)

(m)

(u)
(ID

(r)

Rough Work
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Tobacco plants resistant to Meloidegtne incognitia were developed using a method of
cellular defence which relates to

(l) Silencing the translation of specific mRNA 
,

(2) Silencing the transcription of specific mR).lA
(3) Activation of specific tRNA
(4) Activation of specific mRNA

EieJfoJ)&ns aSs-41""ro5;.Sc C66dSd $OAS Sn $c EoS3-oSc
666;.RoS$ Sead$eo "odO 6Cg 5oa:oQoSo6
(1) DAA mRNe OoS6 ep5:o.55.r5c :oEC3o6 tsilencing)

(2) DaA mRNA 6.r>56 esicdq:S50:Sc ioECSoF (Silencing)

(3) PA"B IRNASc adecbd#cir

(4) CAA mRNA$c 6debdr$d:

e) oDJ' OJ r.J oOJ el- "l 5

S c$oe;

rf, ODJJ C)

12. Study the following lists

List-I

(A) Vector

(B) Downstream processing

(C) Cry II Ab
(D) Transposons

6; 13oA e-Do.s5o e.r{gc$o5o

s.as.-I
(A) a"i:-So
(B) e*$g5o"lr. 1f:$c6:
(C) Cry IIAb
(D) ger53dr6)$o

'Ihe correct match is

List-II
(D Resistant to cotton bollworm

(ll) Mobile genetic elements

(III) Controls corn borer

(IV) Ti plasmid

(V) Purifying protein in biopharmaceuticals

ar'.46.-II
(l) X>3 a'5;r63$ L{)oc646sd
(lI) r5s5 e$ogJOE:ocr:
(lll) (>Qs"c$: AOts Q)6ri: ScEoogdca

(IV) Ti fl"o26:
(V) dS aA'pod 1dre555o {)ax)di$ir

dc$oa

(D)

(m)

(ID

(v)

OD

N
(2)

(3)

50o3r5 #6oxp
(A) 

-(B) , Ic)
rrd wt/ tnt
(rrr) $t GV)
(rv) (rD G)

(4) (rv) (v)

Rough Work

6SAM 2015 D

w
w
w
.e
en
ad
up
ra
tib
ha
.n
et



Identify the correct pair of characters of a babterium which is useful in produciion of

methane

(I) Recyclers of inorganic nutrientd'

(ll) Presenr in stomach of caftle

(III) Obtain energy from sunlight

(lV) Aerobes

5c$5 a63q dc$cu"C3 dird;'6od ar'€oc$c5c 6.::{6 "o06:5 o$ee-o adSc

r(:0oJo6
(l) er'oogOcSc dr6{rs's Q;5 t.518 c$c-oc

(II) 5{c$o d{$doe$ 6oc.:.oc:

(IIf f>.:-dgdA3 $co& dBC Joo6:s"o,::

(IV) o.c$l:r( 6 d{;er>

(r) (u,IID ,6'rr,w (3) (I, IV)\
-<-

(4) (rrl IV)

14. Which one of the following variety is resistant to white rust disease

(l) Pusa Sem 2 {
(3) Pusa Sawani

' EoC3 5.: o Sc$o E6ooc o'5QB

(1) X?)"i' -o5c 2

(3) "qy) i:o"S

(2) Pusa Komd{
(/t Pusa Swarnim//'

f")ocddsg .5J"ro d5o

(2) 8i& $$':5
(a) Q1& 55So

b 1e- d s-o a. oo

$t tr,rYt

15. Identify the correct pair of combinations

(I) Vallisneria - 
Long stalked female flowers 

- 
Hydrophily

(lI) Tribulus - Annual - 
Root succulent

(III) Hydrillo 
- 

Submerged rooted hydrophl'tes - 
Aerenchyma

(lY) Casurina - Perennial - Phylloclades

i:06cS dc#Co""p 4.5 S: dcOo15o6

(I) o"O5docS;" - 
dpdE5 $;oe'wr(o ugl {:}l* - 

aq"oo"6 X>o"od6o

[! i-eSargoS - 
5g;r'o5o - 

dbCoeJp:S dds;
(Ir!]11eg 

- 
Scad r})Sn 60A oAysdeao Eo6$ B>56oc - 

a.cso Qr06
$c35c Seae-oo

(lV) ra'ps' - 
a{v'oo'0 do -

(1) (III, (4) (r, u)

Rough Work
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A
statements16. Find out the correct pair of

(I) In completely plasmolysed cell, pressure potential does not contribute to \yater potential.

(II) If a cell is placed in hypotonic solution for longer time, the cell membrane shrinks

away from its cell wall.

(lII) Apoplastic system comprises of interconnected protoplasts.

(IV) Polypeptidggiave more imbibing capacity than polysaccharides.

"oOEJS -.SpEo aeY5c r{cOo'5o6

(I) {grorr 5ea1d$g i>o$.!o Eo65 5ea.ee, $CXS3 Der:$ef 5aSXS3 +p:

5pc ao66o

(II) a,5 See-D; ero;n"d 1o'Seood 6gis-oo 6o0d geold 5ea5$'Jo S':o&

5co0or$SC dde5co 6

(lID 1iJ6S*"8e, cpodo'o SgS! en*of'g SgS"6e$ 6oc$oa

(IVr $Oa.a:B5o 5od +O-o-o5e C+5d$ JYc65

W r,r{ (2) (r,r) (3) (r,)x)r (4) r&

Identify the physiological functions of two microelements, of them, the former is required

for the-5y:uthesis and the latter for oxidat:on gUAA respectively.

(D Constituent of chlorophyll molecule

(II) Maintenance of cell turgidity

(III) Splitting of water in photosynthesis

{ff)Co-factor for carboxypeptidase

(V) Component of methionid
$dc(:o. E$5i36 IAA f)oi&eogr, zo66o IAA eBJ5dea5c ep$(>d$cd;5 Eo6c
5:.$3 dflos'o {66 {dg-c{co$c rJcoo.JoB

(l) 5pYy"Od eca:$eS a.d 4-r(o
(ll) 5e6-e 5;6o5: Cdo.::or5.:5: (Maintenance)

(lll) Sdeaa$g 5o6;-d13o5cet' 5e3 Ad)dS
(lV) s-o.;33-obd53 53"s"dgo
(V) A:QB)-CS es5c".pcCc5o

The correct answer is

a& i:06:5 65;"q-.5o
(1) (rr, v)

Rough Work

(3) (v, D
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18. Identifu the correct pair of zrnswers indicating the reactions catalysed by "Isomerases" class

of enzymes.

(I) Conversion of glyceraldehyde-3-phosphate to di9yAt66 acetone phosphate in Calvin
cycle. I

(II) Formation of malic acid from fumaric acid in Tricarboxylic acid cycle.

(III) Carboxylation of phosphoenol pyruvate in Hatch-Slack pathway.

(IV) Fructose-6-phosphate formation from Glucose-6-phosphare in EMP pathway.

"oirscdtf ' DE-t 6l JSESce:> 6d376oi:dro '5dgo a65c (::"Ood $S,:.q.o.Cy
d.>0o"5o&.nJooao(3.

tl] logs s^"*_ot flso-p115-3-*jo;er, EJrLo"-S; r"D!6s +tlg* 5rd6o
irrl p1$o-1s3o5 sdcsco&r fu5s:oS 

torJl-._s"La'sros oi;o *bd;a.o

(III) x)-.'5-i-5 X>{od }3t;6+o"6 }dcdel s.o";83dh5 adiJdo(lrl) i)-5-J.S b6od ft3t36so"6 pdcdel s.o.383dhS adiJdo
(lv) EMP 6{oef F"S5-6:+api5 5co6 lrSEo-+tpdl Sd;diro
The correct pair is
aa 5Eb3rS dA
(1) (Ir, IV) A y,ruy (3)/^1, \t)

.,

orr"rof

qtl

(4)

19. The number of ATP molecules formed from 8 moiecules of HrO due to noncyclic electron
transport and subsequent photophosphorylation is 3 -\
[Assume that quinone cycle facilitates the transfer 4H+ to the lumen of thylakofr membrane
for every two electrons passing through electron transpoit system and one AIP is formed
for every 3H+ moving down the proton gradient by thi mediation of Fo - F, ATPasel

8 ercacgo HrO $co6 es'5i-ScUc Jes-95 do.eo., 6d5ou5d s.oO $VSOdaS

,'r1';; :p: fiL:X3!i*?.r* ros-1so*c Bssas socsco lr- ".,Aer6o:rA .l-q.5Xp 
-e,u-ga:SdS ?ja0 dScodC" i:0cS:: ier,erS. r'oScaeJ ad:$

a{n- Fo - Fl*Al P d:d o"go" i-!>c$:-e3od-q5& 3H' erSr iS ATp l)d36c6:od0
q-Do,5o&l //" _L(l)8 

&4 
\-' (3)16 (4)t2

20. The corect sequence of the involvement ofthe following components in non-cyclic electron
lransporl

c0"518 c$c Jos-75 do.ec.d J"€i'd & 13o6 es5c-.2c6s.s (>06c$ g5$c$c:
(D PC (ID PQ (III) Pheo (IDrd
The correct sequence is

50615 5 dcb r5$:o
7

(ry (r. r, m, Iv) (2) (rr, r, ry D (3) (rv r, r,.rrD (4) (rrr, il, r, iv)

Rough Work
tA...

u
0
{
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21. which of the two staremenl .r"*.Aspiratory pathway is an 
.amphiboric 

pathway, ?(D Fats breakdown to glyceror^andiatty acids, subsequently yields acetyr co-enzyme .A,.
(II) In respiration, c-c 

.bonds 
of comprex 

"oo,ptrnd. 
breakdown through oxidation leadinglo release of energy.

,t", 
Ai.;r;"t tnzyme 

'A' from the respiratory pathway is withdrawn f,or the synthesis of

(IV) Proteins are degraded by protease to amino acids and enter the respiratory pathway.

ilS}:"t 
B06r d.Spser 5.:"6 a-5(>13c$c a.S "6dcsc dspcsc x:{o; eSa,D;

Qi

(D 
T6S_*, 0!o.O Sc.cS.:: S.{5 es$-:-ocn D..)JSyo Eo6 e5dSoe5do er"o=.6$-.:sesc 'A' n" bdJds";

(II) 2.5"o$cU.:d bof $ X>o"g"oo! C_C ?Joe.or eg;Sdeao o_5o. Dnpsl:o
dSC S6cde Slo;:

0II) J'o{Ert S:ag:. 
_'A'. 

oc a-5.o13c$;" b{o Scol) zccScccX:6 S.g5 e:b-:.e:
bo d a cd.JS 5.".rd6ds.o:>

(V) @oeS5cer, ldre3dcf o'go, erEc.$ egbes:n. C',)gSyp, a-5(>$c$,r. i:godB
1i>dtloo.

(r) (I,II) (2) (r, IV) (3) (rr, m f) Or,tn1

A taxon belonging to order sapindales has a single seeded fleshy fruit with edible mesocarpand stony endocarp. The number of carpels in*the flower of this taxon is
Sodr{e) booet' BoSer.ocJ ero6:i>e.:SS,=.C1 Sr0cU:: Od $r{g 6o{bJo56 a,BD4a",cy 506 6od "* T-f.S ,:""oodoS*1ss.eS i.a-L="oerr:i. 

-J 
i*;S

]:c51 furr;oet'c Fedqr."''bopS 6 i6o.n- aoocoa
$;3 @f " @ 1 @z

23. Identify the correct paii of combination
(l) Aspergillus 

- 
Meiosis occurs in asci _ produces citric acid(ll) Albugo 

- Coenocytic hyphae 
- 

parasite on mustasd/
(III) Penicillium 

- 
Basidiospores _ Multicellular

(lY) Colletotrichum 
- Conidia _ Smut disease

5Od)S dcSDoipo e6Sc rJc0oJo&
(I) 

::ig*= - e:565odf {cso$dea idaS adcrfcdco6 _ "og3S erb-:o
E 

"eJE

1l]1. _":.pf - "oS-*cS u5o6c{oc _ er$ E.::S6:o {:o.$ydD
(lII) =oC"o0c$co 

- 
65&6.r.M3dcoc _ a:ir.e5€acS$6 o

AM 2015 D l0s

0. G{
1tV) rEet'-s7pS: 

-(l) (f), (r)
S'5 6 c$c5csc 

-(2) (rrr), (IV)
s-Cr.:5 Edcoc

(3) (r), (rv)
Rough Work
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24. Study the following lists

List-I
(A) Genetic nature of RNA
(B) Binomial Nomenclature

(C) Tripler Codon

(D) Ecology

List-II
(I) George Gamow

(II) Hugo de Vries

(III) Frankel Conrat

(IV) Warming

(V) Gaspard Bauhin

i)oDJO6

ar"0e._II

(I) a-6 n-d:-S

@) r-5aa & @5
(III) 1}o3ei $So"cS
(IV) a"03o6

(V) n"X:36 o.""*S

6x

(A)

(B)

(c)

(D)

gS od r.0e.oSc er{5 cU,:S o

a-Do.-I

ec6.J5.J. e[o56e5go

a5 o"$o o.5:Sdeao

1&5 i>ot.5o

e:$ 6ea a"5 1o

The correct match is

ad 508:5 #6oxp
(A) (B) (c) (D)

(l) (rv) (D (r) (v)
(2) (irr) (v) (rv) (D
(3) (rv) (v) w- (rr)

JAYlltr) (v) Ltr yr

G taentify the correcr pair of combination 
,;

(l) Chara 
- Monoecious

er) satvini a- Ho-o,po.* 13:::?:f6;ydrophyte
(III) Ectocarpus 

- Filamentous form _ Chlorophyll a,_d.-
(IV I Laminaria 

- Biflagellare gameres _ ffapf o-Opio-ntic life cycle3OG)S dc.JAoq;e.: a6Sc r(cOo..Jo6.
(D se 

- 65Oon-$o _ {:ge5$"06o a,b
(II) )05$c6:. 

- srotud5alb _ SeSE, ro5.5pn" dd a::S;
rUI) J$s"dJS 

- uoi')L,rJ _ br66"*o6o'a.:

Hf ;,-flff-' - 
assa.a)ctuu soo:.r.{ be-s: - 5s_agcslos dD6 rsso

#rv) @ trr,tfr; - (4) (tlr).(iv)
Rough Work
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26. tdentify the correcl combination /
yd N..rn - Absence ot buds in the axil of leaflets - e(nately compound leaf

(2) Sunflower - Opposite phyllotaxy 
- lnferior ovary

(3) Carot 
- 

Flowen brought to mme height due to varied Iargtls of pedicels - krvolucre of bracts

(4) Pistia - Discoid stem 
- 

Lateral branch with many internodes

5OA)$ dc#DoXp$c r{c0 o15o6.

(l) dt) - 
i:16s.o 1Aa.e.,d a>ffo: d"oo'5do 

- ";a-3s'6 5oc6::5 {>g.5o

(2) i:rd5s"o6o 
- 

erQ5rp bld0;rg5o 
- 

CSo) eso@'{c$o

(3) s-6ei - Q;{r;$;oo"o ddg6c S6Of 6o& Q1}3o5y a,€ .:4d 6o6bo -
X:0r515$r:"154

(4) "d"Sol:- - 
,'511rd s-o6o - 

erd$ Sea:Q; 5o{g$:'o$o SOnS }d;ga'q>

27. Three plants (A, B, C) are observed. '.{ has suckers. The edible parts in it are the inflorescence

axis and juicy succulent bracts. 'B'belongs to family Moraceae. The edible part is succulent

perianth. In 'C' polyadelphous androecium is present and the edible part is juicy succulent

placental hairs of endocarp. Identifi the types of fruits in A, B and C respectively.

rl\ , @ Sororir, compound fruit' hesperidium

(2) Compsund frujl. sy,cplus. berry

,t}l False fruit, aggregate of berries, hEsperidium.

(4) Aggtegate fruil ber.fr pepo

5o-d6c Bo53.o$; (A, B, C) X)OAOorSdo a0flo6. 'A 'oo5 EoS6o$,: 5OR

6ocro6. 60ef fpXr; Ca'g(>o er{o $c0c6o dXrc$.r:c5, dX)d06 i11"a3Q1u'po.>

3d 4-r{on 60gr-0o. 'B' a.r.d "o Soi::oa:-CB io6c6co8. 6Cd ed 4-r(o
d$d0.J bOirle-oc. 'C'd ec'o"o ao{5 €"jo.$Q 6o6:o6. &d ap-r{o ero6a

{2e.:5$.5ocfC dbc$$e5, dx)doeJ eoo6o-gb ta'or. A, B 5c0c$,:: C B::S;oet'C

""p o-o ds-oSc $d:bn'l{.r0orJo6.
( I ) J664'r5, 5o6.i"l{{: ero, =o-'o366 c$:Sc

(2) Xro6:"r1Ypoo, -o$55, 5,:;5;{>oo

(3) e$;e5$ oo, s,:;6:$ o-oS $"&5 K>o dOdip oo, -"r""o36 & c$;Sc

(4) 5o50"5"q>oo, 5c;5c{:oo, -odF

Rough Work
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28. Identi& the plant which is not having unilocular ovary

@) cucumber (2) Cashe#- (3) China rose

55Oo epoo"{o5;'Cy gOR 6o6C Eo53.$: rJcoo'Jo8.

(4) Chilli

(4) crdb(1) $5:oa:6 (2) d65ntuA (3) tuoo"6

29, Identify the wrong statement

(11 Plants produced vegetatively or asex"ally are cd.ldclones.

(2) Organisms exhibiting extemal fertilization release a larggnuffiber of gametes.

-/il'Development 
of embvo fromQlilized female eu*"t) i, calledQartheno c*9

(4) Conidia are formed in Alternaria. '/

"o0 s"P d"EpESc lJc0 or.Jo6

(1) erEoRS 6{0 do" d"gcSJ6do6' 5O3d a::S6er$c SSoc epod:'dc

(2) a:-fr"ggo65dea .5.:'ro dgw X>o6.:.dSa-o$c J5:65 Sopgef Dt5.rde dlo:r

(3) 6e65dea Eo65 5o 
I i>o6o.i{ 5ao 5;oS "oo6o 5d36er0; erCro5aS5o

er o grdc

(a) ergdyocs;.S f5Acfc5:o 5d;6o"oc:

D:-r-. . @
QO.l 

rt. character associated with the plant in which pollination is by Tageticula

(1) Marginal placentationD( @ Pentamerous flowers

@) T.ilo"ulu, ouury (4) Perigynous flowerg\

cr-€irgJEs- $g {>o.r1"ooX>d6o aOd B::563c boaroQoS$ oSeao

(1) elo6 eoo6o'5(>o (2) "oo# qlr{ctu:6 Q)}Je,

<31 1&Ooc$re! cpoo.{oSro (4) f)d6o6$d "O*)e;)

JRough Work

13S.4.M 2015 D

w
w
w
.e
en
ad
up
ra
tib
ha
.n
et



31. In plant 'A the seeds will not germinate until they have been exposed to low temperatures

in moist conditions in the presence of oxygen' 'B' plant flower has basal placentation and

head inflorescence. In 'C' plant, flower has cup shaped thalamus arid the reproductive

organs in it are enclosed by two petals present on the anterior side of the flower. Identify

the following characters found in A, B and C respectively

(D Slightly curved embryo sac

(11) Micropyle, chalaza and funiculus are on the same vertical line

(III) 180" curvature of the body of the ovule'

'A &)gA.dD Ddo'o: eB;eS 5$:$od dS:ayou: f:0"6'5coeS 65:3'$ *ff11!'5odc

a:"o-d6S,:dcg SdUc ego5.:oo.Jd$. 'B' ao56 ;94;oef 6o6 ero6o'5$c1 scoc$'::

&gSE ;pagac"5&C1 50n 6oc.r:o6. 'C' ard3- X21-a3od REl$oe3 Q;ir3Dc"5"oo

6oe;:oa Scoc$o 'q#;CB ipo'5o6od aod Bo6c e5{eo 61o'oc 1X:dc563e

epon-e5c 5?:3 6o,5cero'r:' A, B 5:0c$o Cd S0"ood 6'a 13oa o$ea'oS:

$dctn'dcEo,5o&

(D "oo6fdo S'Qn" $oi21 &66 6ocr:ob

(II) ero6o"gdo, ,5er-d-, ero553o6o e"t

(III) 180" S"eaoef $oXp @onS epo6d""r"o

(1) (1D, GII),(I) (2) (I),0D,0D

Co$ t q:l> er$ro 60e:-o:)

ff twrl, <tt, 1n1 (4) (l), oI), (lil)

,;

arrangement of ovules on,placenta of the flower of that plant ?

q$ a*ir. Q vu,einut (3) Basd 
.@. 

tl'"u' 
.

iu ars6 dr>53, 'q&;oet' 6o6v.o 'ooq:5 d{>o Soc6coefc i:o61.e'o dEc3e>

5oq:55c i>5c-5o $c0 cU'r: DeiSod &adsroc, {>er5v'o 5oq:5d 1i3 6a.lor:' er

acc56 "qA;oet'

(1) eo$c6:o

ceo@.g)r ero6o.g6J'5oet' b es$coUef 6ocl-o1)?

(2) 6#o"5o (3) 56

In a flower of a plant, the number of carpels is equal to the number of inner whorl of

perianth lobes and coryledons in the seed of that planr is l)/of carpel number' What is the

AM 2015 D

\ ',\2\

14S

(a) $69
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33.Identifytheseriesinascendingorderwithlespecttothenumberofcohortspresentinthem'
( I ) lrferae. calvcifl orae,. bicarpellatae' thalamifl olrae

,-$'frercromer&? discifldhe. calfbjllorae'\halami-Qorae
- ili Cufvtiflorae, thalamiflorae, bicarpellatae' inferae

i+i g.*.o*".ae, bicarpellatae, inferae' calyciflorae

6od X) $rr.Xrs o X:ory'5X:don' & ldeoco$c t:O^N:'g 1S$coef dcO o'JoB

(1) as=q:d, s"o'offt, Przl{d' {o-tofft
(2) -.v"E64Dot, ah6ffd, s"o'off€, {c,"eoffd

(3) s'o?offd, So'D:ffd, as"oJed' a5l>d

(a) =.:-66a4:d, ^as'oJSd, aS-dt, s'O"offd

34. Study the following lists

List-I
(A) Golgi apParatus

(B) Mitochondriqn

(C) ChromatoPhores

(D) Cltoskeleton 
._

6a $ob a'Oo"o5o er$5oYo5o ic6:oa

a;"0o'-I

(A) n"p x:0$6o

(B) Pds"os6cro5

(C) L$sr"tS#6c))

(D) 5ea aPhboed$>

List-II
(I) Circular DNA molecule

(II) Synthesis of carbohYdrates

(III) Modification of Proteins

(lV) Pigments

(V) Proteinaceous structures

ar.Ae. II

(t) 53o"s'd DNA esco$

(II) s"o61l11db 5o-{irea

(IID tdrds .Jrlo6do

(IV) S{154"5er:

ry) [dFe35o1>d co'3ea'o:

The correct match is

aB "o06c5 #ao""P
(A) (B) (c)

(1) 0I)''' (w) (vL
z*Yfi\ Gr w)

(3) (v) 0l) (lv)

(4) (IID ry) 0v)

(D)

(r)

err
(III)

(r)

Rough Work
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35. Identifo the correct pair of statements
(l\ The alrernate name of thymine is 5-methyldracil.
({U-Arachidonic acid molecule contains less number of carbons than palmitic acid.

\tltl C.ltulo." conrains complex helices.

hV; Aquaporin is a polypeptide.

606JS -.E+Ee adsc dc0oJo6
(l) dc$$S$ Eo6'5sod: s-CrEeS ctuo.he5
(II) c+o.p66.15 e*So erea:$ +fuei5 agSoo Sod 6$65 Sd;o"o5o gOR 6ob)o6
(III) -oelgef 5 5oS Xr i>O;o-o$o SOfl 6oi;:o6
(IV) ess"gdr605 e.S SO-oaE
(l) (il.IIt) (2) (r. rD (3) 0r, rv) { u,u,

36. Study the following lists

List-I
(A) Anaphase.\ (D

List-II
Splitting of the centromere

ar.Do"-II

(D =oo1$uc6)6 CdaSo Eod6o
(11.1 os.oD35

(I[) =.roLefA]c$r6o Sd lpdd pSS:.CEo JO"o 6o$-o>
(lV) tSB:.#tu.r, Xo63f, 6crog Sd ep$o0 6o$-o::
(V) Bo g6s.o{5r ero6o.Sio$ebo6

-kr
(2)

(3)

(4)

(D)

(4
(IV)

(IV)

(D

18) Anaphase{ \Il; Recombinase

(C; Pachytene,.v\\U; Sirt", chromatids associated at their centromere
(D) Diakinesis \lV; Chromosomes aligned on the equatorial plate

(V) Nucleolus disappears

6-a $oA s.Os.s$o er{5c6:$o dc$co&
d'As.,I

(A) noSd{-I
(B) t5e.:Sd{-II

(c) &Sc3s

(D) 6c$r.3E"o'o

The correct match is

a6 506cS #8o;2;
(A) (B) (c)
(rr) QY 0D
(IID ry) GI)

0D Grr) (v)
(r) (rD GV)

Rough Work
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37. How many chromosomes are present in each of the following with respect to maize plant

respectively ? 
^

(a) leaf epidermal cell au

(c) endosperm cell 7a
(e) egg cell 10

(g) Microspore mother cell 'yO

a>d6d'5; B>gtr$ i:oa:oQor), $dcbcf, 61 6Iu$Cn35 o'Cd JCl L$EJ'f$)e)

6 o cJ-oD ?

{a) i>i-da:-f.gr5d3 5ea$.r: <bl 1i:&}5 5o$::

(c) crogrdriJd 5eo5o (d) 6o'Jdg geo$c)

tel 5g7 ia 5eo5o {f) -6:'o 'o{ 5a$o

(C) tu'ge 'od 0a $'d;5 Seao

(1) 10, 20, 10, 10, 10,20, 30

(3) 20, 10, 10, 10, 20, 30, 10

IA
antipodal cell '"
generative cell \0

-"gu.po." @

-g'ro,10, 
30, 10, 10, 10' 29

(4) 30, 10,20, 10, 20, 10, 10

(b)

(d)

(0

38. Which of the characters are fouud-in cells producing @"*r*"try
lTt Rich in protoplasm, Qnspicuous 

nucler).

(ll) Thick cell wall, few plasmodesmatal ionnectior€\

{II) Thin cell wall, many plasmodesmatal connections'

(lV) Lignin in. cell wall, inconspicuous nucl\

1}{!od Seoa's-o5c aeYSQ dro {ec'od 5 er$ee'oc {C"o}or:t

(D d$$o"do esQ5o, (rK:3"3$:5 €o155o

(II) $co6Ecb 5ea5$15o, 65ca.S 9ea15$5oo{ aro{o'oc

(III) X:ec.JC 5ea5$.Jo, Sea15S5a:o{. oo{o'oc erQSo

(V)On15d 5.:'65 Sea55Jo, er53&EoS €olddo'

Rough Work
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39. Identify the correct pair of statements from the following,
(l) Primary phloem is commercially important in flax. A
(ll) The food materials in water conducting tissue are stored
(lll) lhe water movement in vrssels is bidirecrionalf
!jV)-,lr4ature cells where hydrostatic pressure increasls during

presence of peripheral cytoplasm and absence of nucleus.

in thin walled cells.

(D flSfet' @{a:5 idird Seaa.oo u.eBegbdon
(ll) 5c3C 5d"o>o. d cUs 5eaa"ood, deosco"go,:

A6?o!e)DJ Je)S rJJ"oD
(lll) 5iJ ,Jo5o o.d:o.trod 6g6r"i{$oSo
(V) {:oX>55 deo-sd J"Sa EP r5E6d do.ea" ad:r{:e5c$;.oydc aosodS S;a

ad.:dod;o54, r.eie$ "do6cJ; deagds5o ao&, SogdSo 6oddc.

(2) (r, D (3) 0rr, IV) 1n/ ,rr. rY

sugar transport shorv the

6 i:6.r r( o

5o.:,5n" 65; 5ec-oc eJt'd

6a gSoA ;:"eJd bOofu$ a.5+go adsc rfo0or5od

The correct pair is

aB 60dc5 ae5

(r) (rr, rrr)

40. Study the following lists
List-I List-Il

(l) Nutrient cycle
(lI) Afforestation
(III) Flood protection by mangroves
(lV) Petrocrops

- (V) Recreation

(A) Cuhurai servic
(B) Provisioning services'
(C) Supporting services
(D) Regulating services

6a po6 s.Dec.e5:

4"48"-I

er6gcSc$o JcScoB

tA) i:o(>6g8 5oa:od t$q: (l)
(B) 5d:5:o d:.i> =o5s: (ID
(C) e:q"d QydgS :o$er (ilD
(D) CcSooper."535 {o$o (IV)

'I'he correct match is 
(v)

aa bOdJS #Ao"q)
(A) (B) (c) (D)

(l) (IV.1- ill,) (UI) (l)

16 u{ (rv) (r) tW'
(3) (t\/ n\ (lll) (v)
(4) (V) (ilr) (t) (lv)

as"0s"-II
q:Se o$ea"o Ssc$o-e>

ca iJ5 $dso
e

5ro1r{:-5 o o.go.5d5o Soor) d{co
-o1e5'A::54o:

e: oS6:i2;

5Oho,'J6o

Rough Work
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A
ZOOLOGY

41. Choose the correct statements with reference to reproduction in Paramecium

(A) The micronucleus divides by_ nqilosis and the macronuoleus tv ggr+os'is-

(B) 'fhe micronucleus is polyploid and the macronucleus is diploe("

(C) After karyokinesis the parent cell divides into two daughter cells, anterior proter and

posterior opisthe.

(D) It undergoes transverse binary fission during favourable conditions.

ood5c""r c$;Sc 1f:dc5"5pQB X>oaoQo')S -o0epoo$ d'SPEeSr rlco o'Jc$::

(c)

(D)

(1)

-g

have Barr bodies

6 Ew^a''

in their nuclei ?

)@-rt1"" t"tnr".

(e) 5;-$ 3€ o 15 
55.::'o$;CqYe$ o'5o' 5;0 cS:: 5o-o € o 16 5o JEco-i:S o"5o'

DqYa$ Eod,:Sc

(B) $.:-{ 3€ o 15 5 o a'(:-o'6 &e$$.l- Sco cS.:: So'e;€ o 16 do d5cft ?; eC 5.:

&o dc$;

s"od:-BE"oF 6dco'd dOSeoo CqYa$ Eodoo 5s$ 1dri.:5 <{1ro"5o 
"5

qlrlo $co&) $co c$a: e,"o 
*6 

{X>o'od E r{o Sco&) ep5c 'os d$oc 5d3c6:o"o::

6a dD ap5cd:.e: {>0"od:oc51K:y6c erd.: 6gQ' D.f19D edcQ;S5cSc

(A). d)-end (Dr (2) dL(c) and (D)

(A), (C) and (D) (a) (A),{B}and (c)

42. In ADA gene therapy, identify the vector used to introduce the functional ADA cDNA into

lymphocyes /
(l) pBR 322 

121 
Retrovirus (3) alphalactalbumin (4) ct-l antitrypsin

ADA a5.:5 ,)3.53ef 5 o'Xls-C;65d;'Bo0 $c$.r'e!35 ADA do56 cDNA 5c

Oo{r-oeicr dcA 6>dx-.:do"dc
(1) pBR 322 (2) ELefEdS (3) ero-3-e;-s-ex;So5 (4) c,-1 cU':-oei$3'o35

.) ln which syndrome the somatic cells oI males

)*foo*n" Q\ Twoefi
6 goa b 'ooq6"5:d ""pdc"*rd{Jc,:

6 o CJ- o$.

(1) 6-5J t2l c.:d;63

dx*gm-o €o1ds-oc ts6 dxr'rrs, 5on

t3) Jo"g63

AM 2015 D 19S
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(2) (rD

(3) (r)

(4) (rrD

--rd otrl

44. Match lhe following

List-I

(A) Ostracodermi

(B) Coelocanth

(C) Cyclostomes

(D) Osteichthyes

6r po6 orSC a66&i$b::.

5SS-r

(A) egX>c$Eor' o/ g

(B) fuos"o6

(c) }ffs,*
(D) e='o 35

The correct match is

aa 60o3c5 #&oey

(A) (B) (Cr (D)

List-II

(D Lobe-finned fishes

(lI) Exocoetus

(III) Extinct jawless fishes

(lV) Hagfish

$e3g-II

(D eoDS d"a dX)c>:

(II) JSJ6obS

(III) Do:fi dSde> dC S$eD

(IV) 566 d;)

--.(r) uYf 6
(rrD (r) (IV)

0D Gr) (rv)

(rD Gv) (r)

Rough Work
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A
45. Identify the correct combinations

List-I

(A) Genetic load

(B) Founder effect

(C) Centripetal selection

(D) Directional selection

S
s
0

(1) (A) and (C)

(3) (B), (C) and (D)

5r i-Soa -.Cd 3o6cs
SEg-I

(A) a5cg E-do

(B) #"")S dgo 1i:qr.So

(C) erQdol6 Sdeoo

(D) Aa-o5od $deoo

(1) (A) $00 c$,r: (C)

(3) (B), (C) scoc6o (D)

List-II

The existence of deleteriggg genes

within the popglations/

A small group of individuals from a

population @th start new colony in an

isolated reei6-n \- ---/
It operates when homogenots environment

changes into heterogenous type

It works by removing the individuals

constantly from one end and shifting

fitness towards the other end of
phenotypic distribution

P*q *d(b)
(4) (A), (C) and 1.d)

X>do3d5 $.::e.:Sc Eo:ip$c:
SeiS-U

eo-qr.ef *6csd&s ascg$o:
6odc:$.r:

l)Sy d$o i>5::-3.$o Su.o ao.qry

Sco6 ddo.:r 5'6 Siy"Sda-S1 DSd

@odoef @doQloc:
X:Sca.& c$o o.o.5 dea $o D(t $:

ar"& c$c o.s"S dea 5;rn" 5.r'O 5 fryd.>

ab 5ocd,:6cob

d;dgd.r.X> Sbdead a,5 eroe5god

d$oc gd$con SoflorJo6
aoSd eroeSgod gS$con- 56eoo

s.D o r5 ar d s" o::

List-III

Sickls.eeltanaemia.

Beaks of Darwin's

finches.

Weight of new-bom

babies in London.

Average value of

length of Giraffe

neck.

503g-III

i.)5() -dO

cs 5 &o o5;.

6!0ab :Jor:e)

5::5.:: o:(t

aon odcef

aCr o')S S$2y"6

8{c$o a:d.:$

eo'5",:od

E:6&6$ 5,'tc))

(2) (A) 5c0 c$o (D)

(4) (A), (C) $coc$o (D)
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In a normal ECG the co{rponent that signifies the duration of one cardiac cycle is

(l) Q-T interval N P-R interval Rl S-T segment (4) R-R interval

2,5 )q-dea ECGd 56"S*gS $oc$;' s's'5QC EOcSJdboa
(1) Q-T esoddo Q) P-R'epoeJdo (3) S-T Po6o (4) R-R eroddo

47. Identify the wrong statement with reference to the characteristics of embryonic stem cells

(1) They are pleuripotent

a(2) They are isolated from epitrlast tissue of blastocyst

\ fn.y can not proliferate in a culture medium

(4) They can give rise to the three primary germ layers

'oodS::"o 5ea'o o{ea'oSc SoooQoO X)0s"C r"EPESc dcO o.5c5;:

(l) aD o'o' J'$cdgo gOB 6 o er-oJ)

(2) scs ?'#"r-€ 
-d*SZ, J""gE Sma"so ScoA ddJ dldr

(3) aA X:o5{S S:-dg$:oet' &aJaS Eo5$
(4) aD $r:'61 @{!o"g 5e'oo'e:sc ldJd'5r{orfio'o::

48. identify the wrong statement with reference to the functlps of lymphatic system

(1) Transports digested fats to the,blood vascular syst'm

(2) Lymph returns the absorbed nutrients to the blood

(3) It transports lymphocytes from lymph glands to the blood

,ref U has no role in destroying the invading microorganisms
- 

64."rd6 S55f adcod': SoaroQor)$ "oBs'c;r'5p55c lJoEo.Sc$'::

(1) dgEJ$ S$3 -ao'go$c d{ 1Xr$deo S5$"gsc dddcsw$c

(2) a"5hdi)$) au"oo':$ d Xrs'o5: 8on dgodc3 ddcJsc

(3) s4&dX) g{odco ScoA 66adX) 5eo'o5.: dSocfp3 da'ea'dcS.:r$'>

r4l dpg ..;'dacd 5;.{3d$o d{ea13c$;ef JcrcSoE }1e55: (OR 6o66r

49. Idenlify the set of secondary lymphoid organs from the following

(l) Bone *uh* und lymph nodes (2) SDleen and Bone marrow

(3) Bone marGfu and Thymus gland fltly" and lymph nodes

iBo& o.Cd 65&c$c 0olo.:16 es$ €$co'e a8$c ilo0 oJ.:S.::.

(1) el'6 5og Soocs:: a"a6S Sea:;por (2) 5,l3-S,:: $cOcS:: er! $cg

(3) cat $ca ScOcS;: pScF $oQ (4) 5.)".r'$$ 5c0cUo a"XrUX> Seac;1e'';
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Choose the wrong statement with reference to smooth muscles

$ fn"y exhibit prolonged contractions

$cS;!p 5o6o'o5c iroaroQo0s (>Os'C o"5+5$c Eoc"q$:>

<11 5;'53 5o6d 6oelo$s: 5s'ouidon'C*6od $o0c$r ro& 6$o$o

(2) (rD ioa ers'do.f aod 55 €o165 Sea'e'l

(3) 5e3 5oS.5tur X>5c$co.fau5 o"6S5S6 *:QSod 6obcoO

(4) caD 6$s-o 6o$,:'oSc ,50'Q;e'o'::

i!>50p{o::

t 

d Myofibrils show altemate dark and light bands

1 fzl) mrv are spindle shaped uninucleate cells

\_,/
(Z/ fney are spindle shaped uninucleate cells

Z ti"t, ."r,*.rion. *" ,nd", the control of autonomous nervqmdstem

51. Match the following with reference to endocrine disorders

List-I

(A) Addison's disease

(B) Cushing's disease

(C) Cretinism

(D) Myxedema

(E) AcromegalY

S;.5 $ frOa3$co eB-o?: dce> 5c

5s3g-I

(A) eo&i:53 o"56

(B) {:?ro63 "oo16a5:

(C) 13e30ao
(D) D:336s:"

(E) eg$a:n'O

The correct match is

aB 606cS 
-d6o'q;

--tt' t-lxiwlt' c-lv. D-1, E-ll

(2) A.Y B.IV, C-IIL D.II, E-I

(3) A-II, B-III, C-IY D-I, E-V

(4) A-IIdB-IV, c-Y D-I, E-II

List-II

(D HypothYroidism in adult

(II) Hypersecretion of somatotropin in adult

(III) Hytrrsecretion of glucocorticoids

(IV) Hypothyroidism during pregnancy

(V) Oyerproduction of glucocorticoids

boa:oQor) 6* 13oE a'DC a 6 {: d':'Jr5c:

385-lt
(D t*6sd -o-dpQo"o::&45>

0D a+6r"ef tosr"S gf"o5 er6$o3a

(lll) /u"Ss'Qs"oo{ eref363e

(lV) rldlo o"O35 597ef S0'oots -'r"dr6po-o>)6db)

(V) i{:"Fs"gror5o er6SUSq

Rough Work
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Which one of the following is the correct statement with reference to Ascaris

fumbricoides ?,

$ uonoee/etic, din6/phic, pseudocoplomate and 
{oelozoic 

parasite

lf Monogen/tic. dim(rphic, coelomate and histozoit parasite

(3) Digenetic, dimor$hic, pseudocoelomate and hist\zoic parasite

(4) Digenetic, dimorgrhic, coelonate and histozoic parasite

lBoA a"Cd e&3,0S ero[As-o$655c 5oa:oQor)S "106)5 o.CC Eoo(g$o

<1t 5s-&$oo, 6gd.:.K:5, tuq.gd6d 5cir.d, SeaScil.d X>o.S;dA

12> 5s"&floo, 65do-i:5, Sa{6d Sc'u.d $coc$o Seaa-o -oo"51d0

<3> A5es8$o>, 63dr{>5, Doq"gX6d $ir"d, Seoa-o X>o"S;dC
(4) ASeeOdo$, 456;'i:5, Cad6d Sc-o-d SoOc$.r: 5eca-e.: X:o-S;d0

Choose the correct combinations

List-I
Class

(A) Turbellaria

(B) Trematoda

(C) Cestoda

(D) Phasmidia

6+ 
13 

oA i>0 epoo$

5e3S-I

Dq1.tfo

(A) cJdJdoosJ.

(B) p$cefo"

(c) -offo"

List-II
Character

Mostly free living flat worms with mucus

forming rhabdites ir-r body wall
Commonly called flukes which bear_ly4q

suglqlr_
Ecto and endoparasites Body unsegmented

Amphids performing chemo receptor

function

iodc3#o.o5c r{c 0 o,5c $,:>

5e3S-II

o{oo

'ogo.p d {or, d*- Sca5 o d d +aCf
5d3Od o.ar or:cf erd Co.3ea.o:oeroa>

5O3C )Q-deoon hJPSJ c,oordc.

5dB oo6c ,5.r.Xr s"q:oer"o:>

aC a-ir. g S,:O o5,r: erodd X>o.51 d$oo,
dir"od q:o66ssso drc

List-III
Example

Convoluta

Bilharzia

Echinococcus

Trichuris

ireSg-III

ao.Xv" dea

dSee;,:-ee:-
d?J

0 er. 0 cS;-

@) fi536csc.
(1) d) and (c)
(3) (h), (C) and (D)

er o'.2 5 o: 6 J'c$S g 
1n""o"s"ern i:Sd * oo p I 5cg E 5

1fu61andlB)

@tar. ff ana {ol
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Identily the correct-passage of spermatozo4 in male humaryqeproductive system 

^'(A) Vas deferens ([) (B) Epididymf@ (c) urethr(! (D) vasa effe\Entia

(E) Ejaculatory duc-(Q (F) Seminiferous tubule$

5:'5s Qldcir lsdog-63q $gsx>{: 5oa:oQooS {ci-sSo-o xrog::s 16c$.:'eo $;'gc;
,1-a^ \a-<--
I IJ U U IJJ AJ.JJ

1li Xci-So.b.S (B) J"oAEIob (C) 1i:ao55o (D) {c15o'a5er>

(E) 53.oS o'{So (F) {cg$e";dd o'05er

(1) B-+D-+F-+C-+A-+E
(2) B-+E-+C+F-+A-+D

,-&YF+D-+B-+A-+E+C
(4) F-+B-+A-+D+E+C

55. Match the following with reference to geological time-scale

List-I
(A) Origin of trilobites

J!\ Origin of oslracoderms

((c) origin of fishes

(D) Origin of amphibians

(E) Origin of cotylosaurs

afEoro$r5 (rs.dSr: 6a $oa o'CC a66&t5rir:

List-II
(Q Sit,.iun

Q) Carboniferous

-(fiI) Cambrian

(IV) Ordovician

(V) Devonian

5gs-r
(D -oerr.0c$:S

(II) s.6a10-e65

(III) €o1Do$5

0D ergPp"oc6rs

(V) a$cc$s

tr€-aaaq
.-e-3-
)t

ov

7.d-

SciS-I

(A) p)dpg erco";bo
(B) crf)S65&o e:5o';$o
(C) dbs erD&p6o

(D) & {c$o r5o.o e:Do"p5o

(E) s.e3dJ.6e eDo"pso

The correct match is

aB "o06c5 #&ofu
(1) A-IIL B.V, C.I, D-IV, E-II
(2) A.II, B.V, C.I, D-IV, E.III

t3) A-Wfixv, C-rr, DfV, E-r

-fly, w.cll. r-lu, u.4i
z.r/ ,,, /

Rough Work

AM 2015 D 25S

w
w
w
.e
en
ad
up
ra
tib
ha
.n
et



U,
J

(1) 1a:516 $o{coc
(3) gA S Sea.or

(2) 9cdgSeo-oo

(4) X>55 S€r.e:)

57. The unit formed by

kinetodesmatl is

(l) Myonemd--

a,S eB c$cd $dcbd
i)d36cucoa.6cc
(1) sDd>"55,

(3) Dynein

d-d BEdfElJC,r"e.l)

,.. 
-r-F(r,t @N.,n

Kinety

a,5 gX> $.r.eo o n-

a longitudinal row of kinetosomes together with the corresponding

{/} Motoriu

65; EBe.f#Scoc

ae)- rd6'&o&-6r

(2) EJ-cfoc$S, (4) E3e5

@
5O ".)

58. Match the following

List-I List-II
I) Fasciola hepatica

- -... (II) Antelope- 
(IID Ascaris lumbricoides

(A) Obligatory araerobe*=-_

(B) Facultative anaerobe--\
(C.1 Potyembryon

(D) Reservoir

(E) Biological vector

i,Sob o"CC ad Sr,5:3$:>

$o3S-I

(A) er0(e;S epo"c6> dD

(B) 45035 csil.c6> dD

(C) #oJolSd:.C
(D) e{c6:.efroo
(E) d5a"i:-5o
The correct match is

aB 506cS #6ofu
(kY (B) (c)

(1) 0rr GD (r)

j"6 $ Grr) (D

(3) (rv) (D G)
(4) (rv) (rrD G)

]'-l:€V) Female culex mosquito

(V) Entamoeba histolytica

Ss3S-II

(I) p"od:.er =.r.Ji3s-

(II) JouScfS

(III) es$605 e::o[Aso:>65

(IV) es65:.9o53 56fo

(V) Jobba:- "o.d{Ee3 s"

(E)

$d
GVT
(v)
(v)

(D)

(rr)
(ID
(rr)
(ID
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\

b
59. Statement (S) : Marine lampreys migrate to rivers for spawning.

Reason (R) : Marine lampreys return to sea water after spawcirf'.-

(1) Both (S) and (R) are correct but (R) is not the correct explanation to (S)

(2) Both (S) and (R) are correct and (R) is the correct explanation to (S)

(3) (S) is wrong but (R) is correct

\ tSl is correct but (R) is wrong

a"Scr6 (S) : 3$>16 o'ofoer 5&s$ r{:do it o'p3 6Sa"So i{o::
s'deoo (R) : X>$>15 c.r-ofoe t{:$, bSS e5cr:4"6 &on 5$>1o"c; Sd:o"o::

(1) (S) 5c0o5o (R) sodc 50d)SC s.D (S) 5c (R) 50615 CSdea s-d:

(2) (S) $ooctu (R) 3oc6: 5oE)SS 5ooctu (S) 5: (R) 5op:5 D$dea

(3) (S) 50p1r56 s'6c s"S (R) X)o6o5a

(4) (S) S0plr$6, s'S (R) b06l56 s-dc

(1) -o.6EE5-A (2) ar5at'Sg ro r{: (3) Seo. (a) F*o::E

Which one of the following diseases js not treated^l'y Inactivated Whole Agent Vaccines ?

tl) Hepatitis-A p( (2) Bubtdic Plague@)Cholera (*) Typhoid

$oB a'cd 5 a'gQ 03d3 $ddc 5?.167cS.:" SoQIg @e${g o'335e.:$c

6 {>6.:-fi oJ 6c ?

o Severe combined immunodeficiency in man, is caused by

( I ) Deletion of gene encoding lor nTPoL

(i3\ Point mutation in gene encoding for Adenosine deaminase

(3) Point mutation in gene encoding for AfPase a

@\ Deletion of gene encoding for Adenosine deaminase
\.t
sF$$Cet' 5g5 X>A:3A6 ;r"SQ S64dS dbo dss.rs so:r{:5:o6?

(1) ATP555c "oo€Ood arsrg$ 50o"gr{o

(2) JASbS &Jscd5$c "oodood a;scg$d .Dodo 6"536$d5
(3) ATPS€SJ 5o€aod a5cg$d6 Oodr dd30$d$
(4) J&S'oS &J}>d55c "oo€8od e5cg{; "ooo"grfo
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A
Choose the correct statements with teference to Mutation Theor!,.

(A) Mutations occur from time to time in naturallY 
,breeding 

p/opulations

(B) Mutations are continuous and accumulated ovdr generations

(C) Mutations are fulfledged and there are no intgrdediate forms

(D) Mutations are 'not subjected to naturaF(election

(1) (B) and (c) (2) (A) and (B) (3) Ql and (o) \ ,o, and (c)

ae538$6S "ognoo"DB'ooooQoSS X,6E3rS a'5+5o$ l{c}o..5':5'::

(A) (>X;.aon' 16a5$o aO'o ao'q:-d0 d$oef s's-$': r(:ea o n' 6638$do'o:

$oqYDlo;r

(B) ad;O56o'el erDSlSo 500 c$or aD ei d eJ o'ocrr "oo')6$o$eroo

(C) 6e5;O$do"oo 'ooiprdB:SD $coc$o $;'{5&od d{o;o6$

(D) aeYpo${o'o: $>5;3Sdea-SB rb0s"$

(1) (B) Scoc$.r: (C) (2) (A) Scoo:'r: (B) (3) (C) S':oc$o (D) (4) (A) Scoc$u (C)

63. Which of the following disorders is not caused by Pleiotropic alleles ?

(1) Sickle-cell anaemia

(3) Phenyl ketonuria

6a i8oa u.Cd 5 o"gQ

(1) YdSO - Seadg6.r'5.5

(3) bEeS Stf $:-50c6;'

. (2) CYstic fibrosis

\1 r**oo,uslosis foetalis

"gal-luf 6oc$.:rr{3 D5o;s'o 5 oS Sq:r{ 5'>

(2) "otg -hL?'f'r5

t4> JOlSzrS{""lS 6e6-OF

64. In birth control methods, which one of the

I

(l) LNG-2&L- (2) SahA

& 13o5 a55o65 a5$ Co5ooldm

ero.r$$yA ?

(1) LNG - 20 (2) 5ro"0

following is an lntra Uterine Device ?

frYacinul ,ine (4) DMPA

6qi.5cod 5a r(o"1{cS;"o.5d }6$$c:

(3) o3r"s SocUco (4) DMPA
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Statement (S) :@ In brain stem, the pons is called as pneumotaxic centre with an ability
to moderate the functions of tle_lqqplatgryjlylhm :gltre".

Reason (R) : Neural signals from this centre can rediEE-1he duration of expiration,

thereby alter the respiratory rate.

lCorrect answer is

S Aotn (S) and (R) are correct but (R) is not the correct explanation to (S)

(@) goth (S) and (R) are correct and (R) is the correct explaration to (S)

$i tsl is wrong but (R) is correct

(4) (S) is correct but (R) is wrong

a"g+g (S) : B:56c s"od5,r:d$ &E35c 5.r5are;"335 dold$coe.r.dc. a6
6nS 6Od a.gX>oo5cod &{co5c bS0o.ider:dodco6.

s-deoo (R) : 6r €o15"qo.8 X>otec.crl 6n"is{ er$e0 elAor) a.gX>dor5c

5,r.dgr(og.

aB 56615 5 $.;.o.5 S'::

(1) (S) ;DocS], (R) Eo6: 506:5C s.C (S) $ (R) X)ogjr5 D$deo s.ejr

(2) (S) 5c0o5,r: (R) Eodc f)06)SA ScOcS,:: (S) Sr (R) bo6o$ D$dea

(3) (S) 5odr56 s"d>, s-C (R) 506)Ss
(4) (S) 5oSb56, s"C (R) 506:54 s.cS>

66. what is the correct sequence of Man, taxonomically starting from superfamily to sub-

family ?

fu Hominoidea, Hominidae, Homininae

(3) Hominii)|Homininae, Hominoidea

5;.5$6 S6ddeaoeS erQScbcoaro

l{cOo*c$c:

<1> "osa &c;J'oc: & c$J.; Xr€AfuCd, ;rs6ec0 d
(2) ;rtt0rSd, -ostioo"ol6 o5;., -osaAcp d
(3) frs4crcd, frs6acC$, Xr$Der.o$& c$r'

(4) r'"r$ 0c o. o.l A c$r., irs4fuCd, Xrs6ArS d

\9- 
Homininae, Hominoidea. Hominidae

\$_\IoEinoidea, Homini nae. Hominidae

Sco& 6"oSceroa.r"CB Se $ dcK) Cq.o.C;
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(r)

(ID

(m)

(IV)

(v)

67. Match the lollowing with reference to

List-I

Appoposition

Dioptrical region

Retinulae

Vitrellae

Cornea

eye of insect

List-II

(I) Secrete crystalline cone

(II) Refractive region of an ommatidium

(III) Region having comea and crystalline cone

Houseflic(

Photoreceptor cells

5Eg-II

5pu3S {o{r$5o pDot$So

6p"odi21 5lgd55 glo65::
65I:dro$:: Xo0otu 5pe35 {od:fu 5o @o65::
&r{e>

s-oo p.Xr.d Sec.o:

(A)

(B)

(c)

(D)

(E)

8trS41 SoCB (>oa:oQor)S 6a 13os o.CC a"5 5J.63$t

Ss3S-I

(A) J&;eefi5 $>30ooo

@) roe€o1A56ea @o6o
(C) 316i:i.:o Sea"e>

(D) ag8d

(E) {>dl:c.:oo

The correct match is

aB SoEc$ #eo:p

,(t) A-v. B-rY c-ilt, D-t, E-tl
\ ,,.(S A.tV. B,III. Cr9. D,( E-ll

(3) A-rrr, B-rr, c-IV, D-Y E-r
/

(4) 
^-N, 

B-V. C-ilr. D-rr. E-r

,7\
(A')tne contractile regulatory pr.oteins that mask and unmask active sites in the sarcomere are

- ;,[') Troponin and Tropomyosin 
-fu(rovonin 

and Myosin

(3) Actin and Myosin#-- '@)iroOonin-I 
and Troponin-C

i-d;l:c$r6dD 5 CcU.:ogdca 1er'd;: PUSffio-e.:5: etr.pd $c0c$r cea..:.3do

ic$r:od #d'o€.:-o;:

(1) [0fJ6cS $c0cE:: pder'SooJ."o5 Q) [ddr605 $coc6.r: sJd;-h5
(3) 5SS scocso $c6.:."o5 <$ [der6c5-I $:ocs.:: g$er'cS-c
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69, Statement (S) : Cockroach is "paurometabolous" with reference to its development

Reason (R) : In the development of cockroach, there rj-!9-iymphal stage.

Correct answer is

(1) Both (S) and (R) are correct but (R) is not the correct' explanation to (S)

(2) Both (S) and (R) are correct and (R) is the corect explanation to (S)

(3) (S) is wrong but (R) is correct

\). tSl is correct but (R) is wrong

a'5PE (S) : a5'6o5 S;dEoda'C; 'Jo'Bcc.re$o5' cpod:-dc.

s-deao (R) : a5'6o$ eQ5p6ef "ogd;"i: *aS$l: bUSAAc.

a6 50d:5 i>$*q"$$r>
(l) (S) fDocSD (R) 3oc5: X)0g1rSD s"C (S) $ (R) Xrogl$ C56eo s.d1:

(2) (S) $c0 cS.:: (R) Sodc "o06cSD $cE cS.r: (S) S: (R) i:06:$ C5dea

(3) (S) 60d)56 s.do, s.C (R) b0d)56
(4) (S) fr0d:S6, s"C (R) 586:56 s.cSr

Alleles for a gene I are IA, IB and Io. If IA and IB are dominant over Io, then

is indicative of
(l) Co-dominance

(3) Wiener hypothes/-
I erd a$.:g$5c IA, IB So0 oJ.> Io erd c$*d3 C5o-3w 6oer-o.D. IA 5cO c$c:

esScSD Io 5o"y a;"":'.de.ec eso$d IA = IB > Io dSP 5;.iSo o 6

@) n.".r.i,"
\ Dominance

IB

rlt "o3-er"o.{e5$.>
(3) 556 "ognodsc>

Q) eroddd$.:>

6) ar"o-deJ$,r:

71. Choose the wrong match with reference to joints

(l) Gomphoses - Intercarpafloint

(2) Syndesmoses 
- Membrane between Tibia and Fibula

@ Symphysis . - Joints betwee-n vertebrae o_f-Fammals

(4) SyrQlrondrosiy' 
- 

Epiphyseal platr-
6a 13oA o.Sd/ Sdp$c X>oa:oQo0$ X>Os"S o"SC Ber:"q;Sr:

<ll 6"ofl5el 
- 

eoc5d 5ce6 a:o{s'o I o:
(2) "ro A ersefer> 

- 
eeo6d $cO c6.:r o""r"do"q)c5o 5c{g 5o .53.55c:

(3) $og.5o 
- $Uo.o Sddcs'o $c{g *od 8eu

<4>'o5s.ogaa'o5 - 
J"o-q: "o c$cel $od$,r>

Rough Work
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72. Abingdon tortoises in Galapagos Islands became extinct after goats with great browsing

efficiency were introduced. It is an example for -/_(1) Competitive releasd\ (2) 6o-&ixence
(3) Interference competitioe r.-Fff Competitive exclusion

n slds 6aloe$ d>*o d:ge$o $:i{-o$do Sos JOo565 e"dvop eso60o'r"o$'
aa 6Pg 3 o"i:- 6 eo 

L o Y

(1) drse9eJdS S6cde)

t3> SgOSdeo drf e9

(2) $;r. d555,:>

@) erse9*Vefg Do5${o::o"q;

73. Choose the conect statements with reference to "Demospongiae"

(A) They are exclusively marine formg\
They are colonial formgr..--

Skeleton consists of siliceous spicules and spongin fibres.

) They are sp-litary,c4d simple forms.

'6 a:-i-Jo € c$.r' 5c b oa:o Q o5s- b 6 gjr$ a"g+gosc E oo$Sc:
(A) aA rgrQn" 55o115 dd;er>

(B) aD X>X:-Sd{ d$ec
(C) er"o5oedSoef 

. "oos"5oC.:s'q: $:6 o5o i";oe5 drsdc eD 6oeFo:)

\DryS SdCEoS 5s-od dgec

,ffi tPl-and (D) (2) (Bland (C) (3) (Aril( (D) and (C)

74. Statement (S) : Marine fishes have aglomerular kidneys.

Reason (R) : Aglomerular kidneys increase the loss of water through urine.

Correct choice is

(1) Both (S) and (R) are correct but (R) is not the correct explanation to (S)

(2) Both (S) and (R) are correct and (R) is the correct explanation to (S)

(3) (S) is wrong but (R) is correct

---6 <S> is correct but (R) is wrong

n'SpE (S) : 55116 dX>ooSooatc d5€{r"Ps" fu'X;d:r.5 5u'16nooo"o:o0:'o:r'

s-Ero 1n; : d$€{u"as. do.I;d"o-d b.u"p"ooo"& 5:116o o"5o. DbQo.5ard
Se3 5Sc; -.r"S;i.ol:.

aa X)06rS (>S;"q"SSo

(1) (S) $ooc$r (R) 3oc6: 60glSD s'C (S)S: (R) 5ogxr5 C5dea s"i5r

(2) (S) 5c0c$.:: (R) Eo6c XrOpbSC .$c6o5o (S)Sr (R) X>06c$ C5dea

(3) (S) sogbsa s.db, s.c (R) 60grr5a
(4) (S) X>oglr$a, s"C (R) 56d:56 s'd$(s) sogbsa,
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75, Vitamins required for maturation of R.B.C. arc

\ vitu-i, B. - Folic Acid

(3) Vitamin Bu - Pantothenic

J1d d{ Sea"o (R.B.C.) {oX>S3eY}c

r I I CirS.:S B. - d{05 ec$roo'
(3) AdTDJS 86 - +ois"ECS ers-:o

(2) Vitamin 8,,
(4) Vitamin B,,

ep$X>d$cr{o CicD;5c

(2) CerAiS B12

(4) AcrSrS Br2

- 
A$#bic Acid

- 
Folic Acid

aD

- 
u#tr0;5 er$co

- Qt{05 ers-ro

76, In which one of the following animals, parasitic castration is observed ?

-offi Carcirus maenas

(3) Anopheles

tll s'0;55 Doo-5
(3) cro""eOS

(2) African antelope

(4) Culex

Q) erf+s' Joc3d5
@) 5;"9e:53

5r 13o6 aodrgoef dSoicodc X>o"S;dS s.r61"a55c r($c0&$.r:

77. With reference to cockroach, match the following

(A)

(B)

(c)
(D)

(E)

List-I

Ocellar spot

zfQo5d: boooQo$S 6r $oA o.CC ad

$e3g-I

S:-{u3tu.

5e3S-II

(D d;r'
(II) ;r-So$o:
(II| fo""rdo

GD A{$)
5o6o"o (V) er{do

List-II

Genae

(A) dp Ooe5rg
(B) eBQSJo $os.e>
(C) 6S65)- EiD
(D) Eo66 e6 ao')5e>
(E) es;>Sds $ooctu eQSdb
The correct match is

a& (>66cS #6oQ;
(r) A-trr, B-v. c-I, D-IV, E-n-
(2) A-rr, B-rv, c-ru, D-v, E-r

(3) A-rr, B-v. q+. D-rv. E-rrr
-..

-.-\@.-lIJ, 
B-lY, 91, D-v, E4IL'---I

Rough Work
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78. Identiff the one which is not a disorder of circulatory system

(1) Coronary artery disease

\ Emphysema

g3oa a-cd 5a oS 6fUea

(l) 5d56 d$rP d.EQ

(3) Jo3)5$J.

(2) Angina pectoris

(4) Myocardial infarction

$5$"65c Eo6C epi:"o3 ?

(2) erodr" -o$OS

(4) $rdr"s"octrcci a5ft6{5

79. Edaphic factors are related to

( I ) Humidity .$ Soil rexture

Jo""pS s.droo dCB SoooQ oSSA

(1) d$c t2) 5c{3 e:5;&

' (3) Rainfall

<31 5{}e5o

(4) Wind velocity

(4) a. cS.:: d rJ o

80. A fish, Nile perch introduced into

Cichilid fishes in the lake. This is

/
(1) Fragmentatiofrt

(3) Coextinctiorgr

<11 So5;oSdo ri-fiFacodXrSl

(3) "o ""r. D ocX: e5 e.p

lake victoria in East Africa led to the extinction of

an example for

@ 66iExploitation

4ffinvaion o[ Alien species

(2) 5$dJe: esODCdJ.lto

(4) *CdeJd e-6cc.: r5'da:-6:

'Fd -o63' epd dX:Sc d.r.dc; erf+s-dC l$ocUJ- -odX>cad3 (rd{-og6o SoS

e: 565c3dC "o35 di>oc epo60or:.or:. aA d0g 6o-5"dea

Rorigh Work
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aJ-.h
.J\6

/\
\ aI

PHYSICS

8l.TwoperfectblackbodiesA,andArmadeoutofsamematerialhavediameters2cmand

16 cm respectively. ).'.* and l."rn* are the wavelengths corresponding to their maximum

radiation of energy at a common temperatue' f,'*u* *d ',nu* u" related as

4rg GB 5x>3$o: A,, A, oc a,€ 'oo"ds::6" dcsca:6' a'5b5'::o $dc"orr

2 =oo.$c, 16 -oo.5c SOB ""p o.;os. esD ?,€ 6 dr6la( 6 d 6$;!pdc 1.'.u* $c0 cs'r>

)." er -'d3 5ro& Eo:$d do'"] 6 ""r &3dea {5;o e5dor{ po'5oSc Eo:Q;o"oo'
max

er6ydc ),'rnu* $c6c$.r: 1.".*o 5c{5 Sooo{$o \
G, G)-

(1) 161.'max =5l"max (2) I',n* = )'"-u* \\v 

-.,,\

t3) 8L',,u = 1.".* (4) I'* =8L" wn"<7'ax max 
JO,

32.ACarnotengineworkingbetween200Kand500KhasdoneworkequaltoS00.Ioules.
Amount of heat energy supplied to the engine from the source is

200 K $:oc$.r: 500 K o $:{5 'oCdro s-o-1e5 aoes 800 rd; "tC i'"tEOEq

e555o: Sco& aoascdc epoddh5 *Sd$ a;:{$:: 
; 11-\\

. 2ooo t t, sooJ (3) ry, io, $, 
'-i\^

(l) -3t \/1 3" \J, 3- \'/ 3 Ulff,

z:::) ?n1., {qro
in.C is (assume thar the pressure remains consLant) '"- 7/o' a-*1""
T"C 5d a,5 a'c$'>:$ rms dr($*, 27" C $d $51 Doc$5c ESofU 6"'a ;:'6'$

6#Lr{6 t &14 -ooe3ld6erd <5od5o "odon- &ocorodD O'Do'5cfol

(l) 820

Itough Work

(2) 1000

=- {--}:

(3) 195

\ :>-

\t-1

\4) e27

@t^L 
o 6

)rJ0

c\
>(>
4-
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g4. Two trains A and B are approaching a platform from opposite directions..The siren in the

station is making a tound ut a freqrienry 4 kH?: 
-The 

passengers in the.trains,A and B hear

i;;;";J *itf fr"q,r",,"1gs.'i.S fu1, ind 5 kHz respectivEly. Then the velocities of the

trains A and B are, lvelocity o[ sound in air : 340 m/s)

A';,0;;B ;:';;d.'F";/q);.soat a{e,ef a'5 i"er }doc s5ohbco';o::'

'6"osef $sy l:ds 4 kH-z S$s{)ssod d3o dqoa' F#oP A $coc$r: Bcf

$5y $>cf:"ets5cer e: {gn0l Sd(:n' 4.5 kHz ScOcS:: 5 kHz #$:!5$5o t{c:

{a:-ern' &od A, B pdA dn"o.: <n-Oe$ {5c dilo = 340 mis)

11; ZS m/s, 55 m/s (2) 85 m/s, 8'5 m/s

(3) 42.5 m/s,62.5 m/s (4) 42.5 m/s, 85 m/s

According to Rayleigh Scattering law

iij Srrrif -rZ"d'dusi particles siatter preferentially smaller wavelengths of light.

iZi rt" large size duit particles scatter onlyJight -of 
short wavelengths',,

i:1 ft" lignit coming from sodium lamps show Rayleigh scattering very effrciently by large

sized dust particles. -rt(4) The light of only longer wavelengths is scattered more in egfls atmosPhere'

o"g0-{r6$"oeo "o:-1"1 oC o$

{lt SS1 X>O$'r'ea$oc r{o {;'Q ereac$oc $deo-'l35on" ero; 6doll Eg"E*S}
s"o@C {:0$"oi'o::

(2) -d6 !16$;'eoo 5On5 d;'A ereac{e.:c ero; ddorlp$5o *51 s'o&S $o-16d;

"do3"dlo))

(3) .l.>d {>o$:'eao dOnS d:'A er ea,: $oc d{&c$co 6{>o $co6 Ier$d s'o& o-5O

So$rrS"r$. a:-n', d{ 6 d 1i:6 o7}oo

(4) aJ.>" a'e'Sdeood A$ 6uor{s:>o ro& $;'1dd': !r0$"o$cr{c$c

g6. A Telescope using an eye piece of focal length 3 cm has a magnification 10 in normal

adjustment. If the Telescope is now used to view an object placed at a distance of 180 cm

from the objective, the new length ofthe Telescope is (assume the final image is at infinity)

3 -ooe3 5;6dc o"tr-gouJd$]: 5e eoS 5c.:5$o a51 d;"d5OPC 6::56 ecbd5$c:

$o'deo 'odco-o:ef 
-, 

10. Sf)r 5b5$.1 $co& 180 -oo'5c' 6;"d5'r:ef $Q$

,5r-6er"c3 6o"ddEpS 6$6:'flo,Jccrdc, er 5J'd6or0 6rrg2,,.yd di"d$ (,')50

1b&Doa:So essod drd5oef a5155cS'5c5o) ,3BB
(1) 39 crr,l. (2) 32 cm (3) 33 cm

o
cm

)

l
Rough

1v
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)1' U /^^
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87. A monochromatic light beam of wavelength 5896 A is used in double slit experiment to get
interference pattern on a screen. 9th bright fringe is seen at a particular position on the
screen. At the same point on the screen. il l lrn bright fringe is to be seen. the wavelength
of the light that is n'eeded is (nearly)

a,g 5g6O "!dodp$5o 5896A do s'o0 lpoao aorr,5Og [>a:.:"r{oef b5&{deo

{rgb-$o 5625 5cd dpo6ci.:3t o.6a6o6.5495 5cd a,S SQf f,S$.r $d
9 5 6cg3$cc$o;>d g5o656.6o615 5.:d cgd i-SSo $d 1l $ dcg0bcc$c

X>d 55oo"e:od, s"Se"oS s-o8 6,::36 eSdor{pdgo, (So6.:.dcrr)

(l) 7014 A (2) 4524 A (3) 6780 A (4) 3525 A

88. Electric field on the axis of a small electric dipole at a distance r is E, and at a distance
of 2 r on its perpendicular bisector, the electric field is Er. Then the ritio E, : E, is

a"5 ')51 Dc$gE Edoe5 eeg,o} r 5;.doe$ C6cgE $geyo E, 5;6cUo o"C e.:oar

55c6g+od5 dp-o 21 5;-dod C6c55 $geYo E, esoo5 Er: E, Cir30

(1) l:16 (2) l:8 (3) 1:2 (4) 1:4

89' Thin plates, each of area A, of four identical capacitors are arranged such that adjacent
plates are at a distance d apart with air as the medium. The plates are connected to a souce
of V Volts as shown in the figure. The charge on plate 2 is
e"S'3d6o"S pa.og6cl A r:.tJo o.o:r{c i>dg$5,:.5B:5 B}?niJ6 bso.5C iroso$c
er (>S; !:o$o $c{g d drdS.:: aodercoc erSc6Sa:6$D. 6t bo5oc V S{g,c r{e>

6d;3 aSSSoSSc i:C.r$oc5f vY,:-'o5 Cd$.::rr boQoX:a:6$C. i:eS 2 =o de:

egd{5o DorS

,ag

Lv'

(4)

t.6V -:. > (.(

*_
(

,,, 14, rzr ffv (3) 'o 
o,

2d

t, o,
4d

Rough Work
96Vl

{Av
'l

\O\_

)w .")
.\Isqi

37 S -\r'
@

'l_.r {r- t r, : a(ar qr
1*l

Jq Lt-
l$o- .,?.
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A
90. ln Gallium arsenide material, Ohm's law does not hold good because

(1) resistance is irfinitet/
(Zj ,"gutir" resistance exists in the voltage-current variation

p)nc'arent goes 1o infinite at very low voltages

(4) current remalns constant for any vqlgeofaoltage

n Oc$co eOTEE 15o'5635ocf , {,5c3 Dc$:Scso $0o!:6:' JodcdSri"

(l) CddS$ es5o'5o

Q) t'ee - Ddc55 1'{ra"'(:'5o S;.dc;ef dcea Sd{5o 6Onc$o514

ir, oL *"3 #gJ 5d c655 $:o"xr"$'l es$o6$$n' aodcsc

t+l 5 s^de 5er:SpSSc aAc55 $>a"i;-$o bdon" 6o6c$c

91. Match the following

A B

.--(e) Quantum model of Hydrogen atom

Laws of electromagnetic ii, duction
Michael Fara

Niels Bohr-------

(a)

(b)

(c)

(d)

6i

J.J. Thomsqn 
r i.--_

Chadwiclr----'-.'--.-

g3ob a'CC adi>dr5o&

A

Discovery of Neutron

Discovery of Electron

B,

3r1a"a5 bdsreo s'3o65: S$r.'
S6:g5o5:J6oe5 fodea Cdo$ro:

tuELer"S erDXt3.6ea

Jog.yS erD(r3,deo

(g)

.-lb)

(a) ar€6 +dd
@) 5e5; a"f6

(c) J.J. q"5o35

(d) 7435
The conect match is

aB 'oo6c5 #6oi9

(e)

(0

G)

(h)

/af'w' @Y
(3) (e) (e)

(4) (h) (e)

(a) (b)

(1) (c) (f)

(c) .- (d)

$tf (Y
(bY@>'
(h) (0

(e) (0

Rough Work
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",-t 
sA

{t.
92. Dimensional

gbe"gs,i-5

i t I iraototo

I
formula lor coed6ient of restirution

r{c ea 5 $o: $ 5c Co@ } do3 c.:-

- t--t-

1+; ulr2iz; ur-rr (3) Mr2

93. A stone is dropped from the top ofa tower of height 45 m. One second later another stone

is thrown down from the top of the same tower. Both stones reach the ground at the same

time. If g : 10 m/s2, magnitude of the initial velocity of the second stone is

a.5 o"o,r:C 45 5c. JelcS; 8q:dot $co6 13o63 $6Oo'6c. a,5 -oS$c 6o'5d

$c85 o"o::C erd 8q:d$o-o S,:oB 13o63 D"oOo-do. Sodc o'dop doS: z,€J-o

doo-occ. g = 10 Sc/=o, er o.r:d BodS o.o,r: 8O diJ (:OS*eo$o

(1) 25 m/s (2) 12.5 m/s (3) 8 mis (4) 16 m/s

94. The position of a particle is given ty t = lti * +t2j+ 5k . Then the magnitude of the velocity
of the particle at t : 2 sec is

a,5 deo i-So gSoB

(1) J2176 mts

C{on a5go65a i=3t?-4t2i+St. t = 2 -o. $d 5ea dd

(2) ffi mts (3) 
"/J55 

m/s (a) Jffi m/s

95. Three trodies A,pand C are projected with the same initial speed with angles of projections

30", 4/5" and 60o respectively. The body/bodies having maximum range :

A,B/$coc$.:: C esd su.dc SXI{:* $dcSrr 30',45" ScEcs::60" $er"e>$ 5$rS

5'o $&66 g>gQo dc$co650. r{oA o"g'oc SOaS $Q$/sQ$o::
(r) B (2) A (3) AandB (4) c /

A 5c0c$:: B /

between A and

"oadq.: A,B

,{,! o $cdg,

(1) 90", 135"

Rbugh W

1(,

$c0c$.r: A+E+d=0.

(4) 45-", 90'

CJ,t*u

\

-a- - -\ ,-r l-r '-'\
96. The vectors A.BandC are such that lAl=lB\t_ll=J2 lAl/nd\Ar+ B'+Ct0. The angles

6, fland6 respectively are

ScocS;: f o X:oao{$o 1A;=1n1,1C1=.uAlAl

[,[ o Sc{g Sca$a:or $dci>n'

(3L45:, 135'

,F@,u
56

ii
\\A

\r
-<4

qtr

rt.
39S

=-

-atJl;l./,^i-rl

{q+ to+

--4.l, r
AM20rs, 
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A

#

98. when a force F is applied to a mass m,, its accereration is 6 m/s2. If the same force is
applied to another mass m, it gives an' acceleration 3 mls2. rf trr" *" ."rr". are tied
together and if the same foice is appried to the combination it gives un u""el".ution
e,5 a:s5w F 5c m, 1d$go.B-o gb6r.Eo,5n o.S .5gdea$o 6 ic/-o2. esd e.:u"C;
m, 16$go'31 gf:al"a! o.C eygdeaS.:: 3 bc/=o2. Eo6c ld5g s.{ce;$c 5O"o

50JS ddco"6 erd oe$:r X>o 6:-t{ S.,lo 
f-ir 6:.E rg areb$ SO6od 6SdeoSc;

(1) 3 m/s2 (2) 2 mtsz - 6) r.s ,i1., (4) 1 m/s2

99' A particle of mass m is moving in a circular path of constant radius such that the centripetal
acceleration is varying with time as ac = k2r12 where k is constant. the powe. grven to trre
particle by the force acting on it "

m gd55o.8 rfo a,5 5ea$,1 'od a"gld$o r{o S;o.s.d $.:.doeg o"C
e55dea5,:r a" = k2r t2 egd SScydeao5Sc dB s.oo66#c* Srdc6c516.
'oo.o5$o. 

^eg 
Ueoolo .o$d+o a:oo Sea-SB or>O3S i.bcd g$l>

(1) 2nmk2r2t 1z) mk2?t. 13y zerJ (4)

97, Acar is moving at a speed of60 km/h traversing a circular road track of radius 60 m. The
minimum coefficient of friction to prevent the skidding of the car is (g : 10 m/s2)

60 5c. a"glds.: rfo a,s sJo's-d 6adc $.r.do dcoo. a,s s.dc 60 B.ic./r{oc:
$ad gSos,.e3Q$16. rdc a"d$oo" co.0ois:e,r$ cgbbdicrr.: scf, iu{o r{ceass::
(g = l0 5:/-o2l
(1) 21/s4 (2) 1st44 (3) 21/44 (4) 2s/s4

ej? soLc5

aStrd k

nmk2r2L

100. A buller is fired from a gun with a velociry60
direction. At the hiehest point of its natt. in)
in the ratio 1 : 3. The lighter mass comes to rest
mass ls

(l) 20 m/s (2) 10 m/s

Rough Work

s at an angle of 6Ql_with the horizontal
lodes into two parts with masses

. Then the speed of the heavier

(3) 5 m/s

?& llutt<

an-
--=>.=-1995+

)-xl6Ds-

a,5 dc#S Sco6 a,S a:.:Ecl$c 30 bc/=o drtS.::gr gaa (r5.:.oegd 6{Sc 60"
$ea5r:ef soOgo"dc. o"C Ss.doef 60{l Jdl Sd a.rBci, 1d$go.{ow I : 3 {;S;
Eo6.: E n"er:n D0{pCcSSo Eo6$6. dOS gSgo.a EobH CdJe ,o&B $r)3SA.
erb;:dr ardc65 1d$go.A $6

J
)

,1\g\
\qlAM 2015 D
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-

+! =- r^a vI t-;.ZY) 
o. = z CG-'-v-- *.ir.'A "@ ,

101' A loaded gun of mass M fires a bullet 

Zof'mass 

m with a velocity v at an angle of elevation
0. The gun is initially at rest on a horizontal frictionless surface. After firing, the center of
mass of the gun-bullet system

mv cos 0
(1) moves with velocity (M+m)

.-\ .t-z_ .l

(2) moves with a velocity "[ ' rt ][u+m]
(mv sin e \

(3 ) moves with velocity 
t, , _ , ,1

(4) moves with a velocity H in the horizontal direcrion

M 1digo-A 5Ofl el:Eicd Codc$o51 a,5 d:J"S m g5$go.3 r(o a,5 ar.rEe55c v

dr{$':)65 e aS;d Seo$:>ey roO;o-dc. dc}S fOn a.5 QOa b$eoegd .{:cdeo

d"o-d 6e.:$,r: 5cd 65;4. roO35 ddca.6 dclB-a:,:Ee5 SESf [d$Eo.B i-do1d$,r>
mv cos 0

(l) 
(Ir{ +.r) tsrtSog' 5dcoc6co6

(m\
(2) "[r_n,.,J drtsoS4 Sdco.:dcoE

/mvsin0)
(3) 

[ M+m .,J 
JrJ$$66 (6ooce5co6

v(M-m)(a) 
- 

tstJo8 3 &a X:$;.oe5d 6{d 56csc6.:o6M+m

102. A solid sphere and a thin spherical shell of same radius rotate about their diameters with
same angular momentum but with different angular velocities. If M, and Iv{, are the masses of solid

sphere and hollow sphere and iltheir angular velociries are in the ratio I : 2, then [5 I ,.
IM, ,/

a"€ o.5)d$o SOES a,d 6JS 6{d$c) a,d rfcofiad$o o.gl o"5b5::e.: idoo ,.C

$eBcS: q5$g dXSr, apS; $rSc$c dX$r:oS gd$;ca$c: dcS::.5c3S1D. M,. M, o:

i:c5 6a d5,::, rbg 6ad$::e.: q5$go.{.:oo.:: o.ei $e$cSc drf S*o CASQ 1 :2 clood
(u. \

esr>y6c 
Ir,r.J 

.*an
5

(1) ;
J

6o -_tf
-Jo -

1(2) ;
1

l0
(4) T

r).-r-

(3) 3

Rough Work
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103. A heavy brass sphere is hung from a weightless inelastic cord and acts as a simple pendulum

with its period of oscillation T. The sphere is immersed in non-viscus liquid of density

1/10 of the density of brass. Then it will act as a simple pendulum of period

E-d d'o-d esb83--od e'afu$c a,S a:dcE5 ad& ffC$o$; 1de.:-d6"oo'dJ. es6

T 6aer.$db b"$.$y oi>oder5$'r:n' gr:$QQsya' & nav'c} 'o)i{d dc
pd$oef $ooOo.d;. 165o #o1d6, a66 i'o16e5d l/10S $o"Jc $516. es{:y6'>

eg 6*d$o Jo6 6aoo'5d s-e.:5o5; e$o5s;:rr 16$$""r:o6.

(3)
rTor t+r {rrt,l 1#,

( s\2t_l

IroJ
(2) r

104. A light planet is revolving round a massive star with a period of revolution T. If the

gravitational force of attraction varies as r s/2, then T2 is proportional to (r is the distance

between the planet and star)

a,g dOs$ g116-5o -o.'5c; g6$go-A rf o 5{ [eJS$ JrB;. T ld$cea"$d$ s-oo#
(>OgCD:doo6. r$&e"g${eo ooo a5/2 n' $:'du6oo-d erbyt6r T2 $ er*,rd$J'So}"ion'

6oda (0""r.5o, $$95$c) sc{g 5c.do

(l) ,5/2 (2) ,1t2 r1t2 (4) ,3t'

105. The temperature of a steel rod placed between rigid supports and of length L, area of cross-

section A, Young's Modulus Y and coeffrcient of linear expansion cr, is raised hv T. The

amount of work done when heated is

-

&dO L,$d5d;6 tsa-og$l: A,cSooF r{cea5$'lY$ooc$o E$5;r5$,: r{osa5$c:

o 65y a,5 6553. S6P d)dE55 erq'o-o $c{gs 6oS, o'C affr{e5$ T

-oor)o.dc. d& dc$oec$o$ eOES "oC E.::d Sco

r)

(3)

(1)
YAcr2Tzl. YA crTL

(2) -;- (3)
YA2azTz|z YAoT2L

(4)

106.The ratio of the prelsure (P) on a swimmer 10 m below the water surface ofa lake

to that of the pressure on ths surface of water (Pu) (Atmospheric pressure = I r-J!5- Pa,

P 
: 1000 kg --3 g = 10 m/s2) is -

a,5 5c3 S.oscd 56 "Jer.ps tO 5c. efu;cef $$1 a,5 5+6n-C-o 5ds$osgc

Sei u5o5o:: 5c5; 5655155; rlo CXr;Q (a"e"5doo 5"165$$ = 1 x 105 Pa, p

= 1000 kC m-3, g : 10 m/s2)

(1) 1 (2) 2

hQ1,=h?q\- t -+^ L
d 

=_bx

Rough Work

(3) Zero (4) 3
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107. A sphere at 600 K is losing h{pfiue-to radiation. At this temperature its rate of cooling is

R. The rate of cooling of this sphere at 400 K is (temperature of surroundings is 200 K)

Kt
8

27
tzr fn (3) 7R ror **

l0g. A message signal of lrequency w- is superposed on carrier wave ol frequency w. to get an

amplitud"e mJdulated *uu. teV)lthen. one ol the angular frequencies of the AM wave is

(1) equal tb the amplitude index of the carrier wave

(2) equal to the angular frequency of carrier wave

(3) equal to the modulation of the carrier wave

(4) equal to the amplitude of the carrier wave

5o{:5 X:6tu0 SJ'drEdAS (AM) 6don'C1 }ocsrtrg:, a,5 o"d.15}dQ^(:o€U$r:

d>d3. #$ efu 5 g5r "w. 5':, ;r"i:- 5 .l d o d?9 *$ :;9555cc w" d tro"qo*h o') o-dc'

gorJ soa:o -so'a"gter6 6dod(p 6.::53. a,5 Se3.rc +sa"qs5s:>

(1) d"fr"S eSdod{p SJ"drSdAS r(cea55::d "o5:'$o

(2) d""r"S 6dod{21 s^#cEc }5:xp555'r:S 55c-5o

(3) d";r.s 
"5dodx21 

$J'd:gdhSS "osc-So

(4) 6r"Xr"S 6dor("q 5oi>5 56DcOd b$.:"5o

(ogE) -tob
p=

p.=

600KSd 65) 64d5$ D3deao o"5o' 6iro $ef;dc$)A ds 6ff1'{ei Sd cga

.:q"d deJ, R. 6s 64d5.:: 400 K 5d 6$;'q;6,: cpa '5e'rd 
doc <e:$deo 6fdd

200

(l)

65)a)

109. A circuit diagram of CE transistor amplifier is given in the figure, then

CE 1u:-53'"r5 S{5o ar96 SocSco 6c.:oef a$3ar&56. esoc:S

CC, +--
I

I

V.
U

(1) Vse + V. = Vnu + I"Ro

(3) I.RL = IBRB + AIERB

I

I

_l
(2) vcr
(4) Vcc

vr"

- V". - I"R,- : I"R"
= V.o + I"R,

= Vsp + I"Ru for V, = 0

<_-
IC

EI
\1,

IE

-->
IB

Rough Work

o(= <d

AM2olsD .tI .- F--, 
--/\' t\-

k, -F
43 s * 2"-[twl

fr= Y +,*a a.1-

^T-
I _.-:__--

reD-P \r.*LL

T-:
Y,+ X ry1.
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A
110, pn junction diodes are ananged as shown in the figures (A and B). Identify the bias applied

to the diodes.

(1) Both (A) and (B) show forward bias

(2) Both (A) and (B) show reverse bias

(3) (A) shows forward bias, (B) shows reverse bias

(4) (A) shows reverse bias, (B) shows forward bias

bc;.gf A $c0c$l> B d .sr."")StJ.: pn i>oQ dd.:'5oc er$;d3o6$D. 66;"5oS>

ep5c$ 0 6 a:o5,:"5$c ifr0orSo&

(1) A SJoc$$ B oJ 3o6c XpOadS3o

(2) A SrocS$ B s: 3o6c- O6a{53o

(3) A fD64{SAo oc$*S .5;-"o3oo6,

(4) A Od{Seo a:cSo-S rJ,:-"o'oco6,

J,r."o So o"yo,:r

,J.:" "o 5; s";o,p

B &6ad53o a:o5.r"5

B ;p6a{53o ao5r5

$;""oJ{oB

r5;.'o X>o o a

Rough Work
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A
daughter nucleuslU. (A) In a p- decay in a nucleus, a that has discrete energy states is produced.

The daughter nucleus reaches ground state from excited state by emitting y-ray.

(B) The binding energy of hydrogen nucleus is far less than the binding energy of helium

nucleus.

(1) (A) False, (B) True (2) (A) True, (B) False

(3) (A) True, (B) True (4) (A) False, (B) False

(A) a,5 3o1d5o$ p- {o5co ero.r:S!:3:6c C5{ {$f,ol>oc SORS aSg top63o

*e533 dot.:odtu6co6. a$g €ogd5o y-3do esobdcsc6o o"5o- ada

i-occs 5;oB aJ,ri-or:B dd.rdco6.
c

3.ga6a5 €o1ddo 6156 aro{$

"55-c6$

(A) 6x:y, (B) cao

(A) Ceo, (B) Cao

6;"Oojco €o1d5o aods So gJ zF rI"{3(B)

(1)

(3)

(2) (A) Caoo, (B) elX:y

(4) (A) e5r>y, (B) e5;:y

&'. *'x_
112, The values of pote41lal energy, \-"t5 :l"fU and the tgleul cnereU of the electron in the

fourth orbit of hydrogen atom arelESpectively 
- -

a,$ Lrg66a5 Xrd$"ear$esf o'erdS 5$ge$S Jog'755c &EQc$ce5 {g, dO {q

5c0 o5o Bl eJ o {3 Cor$ er $ d$n'
.-1(t) -1.7 eV -1.7 eV, -3:{-eV\"

(3) -1.7 "r- *, *,61"u
Jz-----'.-==--._

d.--zt
(2) +1.7 eY +1.7_eL1----1rLEV 

)

(4) -1.7 eV +lze/t9<1

\n, ",:- V\
--tr'G*J

\

Rough Work
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(1)

113. In Davisson-Germer experiment the decrease of the wavelength of the electron wave was
done by

(1) keeping the same potential difference between anode and filament
(2) decreasing the potential difference between anode and filament
(3) increasing the potential difference between anode and filament
(4) keeping more distance between the anode and filament

EAaS-Eda6 1ir6.:-rfod J.E-t* eydorfpdgo eJrfc6o dc6o:6dc d"oo6

(1) ee,$59 "q>oBcoel3 Sc{5 S;,dc;dD &ECc$et {6$.1 ao.5oo o.5o.

(2) er,$59 'ooBooe53 bcdg &BCo5ce5 {d$r dRoL5Jer 6.30.

(3) ae$53 "q>oBcoeiB Sc{g dnE$c$ce5 f,dSo ioor5cb o.3o.

(4) ee$53 "",)eBJoeSB b:dg dlr.do JSc;Sn -dCrJCr 6.50.

ll4' An electromagnetic wave is travelling in a medium of permeab ity p- and permittivity e_.If 'c' is speed of the wave in free space, rhen, the r&active irde* ir ,i"';"d*;-l', 
-'

pm -dOaoJcAOeS, en, -o83c3Dd gOnS cU;-S$od a,S Cdc5dc$c&6o6 e5dor,{o

[>cft-eB0to6. ec e,dodo eos6 ddo .s-s.{od 'c' epood, cs.r.s so d:: sl_

$[g{5S rtxago

(2) I /I!L
c 1lelm

(3) c (4)

ll5' A resistor 20 c). inductive reactance l5 Q and capacitive reactance l5 c) are connected in

series to an AC voltage source V = 200J7 sin olt . Then the maximum current in the circuit
ls

20o sddso, l5o 16ds6g [>3d{o5o fodso $o0c6> l5o gsoctg qb&64{oSe>

E#'o66eso v=200J7sinort $pJ 5s.oe5d $de ass.ca $ese:f i:o4oosr>ye{:,
es 5c.:c$cod rf OXr 0dcgE 1Xro.ir. o CerS

(r) ro.[.a. (2) l0 A (3) 20 A (4) zoJi.q.

Rough Work
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116. The magnetic flux linked with

induced emf at t = 2 sec is

AqYx"Xr.S
a coil varies with time as 0 = 3t2 + 4t +

t\
\ 1,,.

esQo'lr'So s'er$Jof

Cc$go'poS a:o$o

(3) 16 v (4)(1) 1v

117. A bar magnet of magnetic moment 20 J/T lies aligned with the direction of a uniform

magnetic freld of 0.25T. The amount of work required to turn the magnet so as to align its

. magnetic moment normal to the field direction is

e,5 5oo'eoJo$3,oeYQ; ero5o#3-o6 6p-$05tu 20JlT' o"CC 0'25T SgOA ero!o$3'o6

$g"5 a{d es$c0;udc. ecSc}6oo'Sy o'C ero5ci-3'o6 1Q-$cd$'r:' !1o"SS

eoa:oIr aodo:gc 14"o1$Xryc6r aof '6C Sc:.>$

9 webers. The

[\\

a,5 3d .logSc e$c5og'Co05 esc$c};od

Ea6erm $c-dcdc$y6. t : 2 sec $f fo0uJ

4=312+4t+9

f.rr$ \\-,D

l0V -'-w(2) 6v

(r) 0.s J (2) 0.3 i (3) s.0 J (4) 0.10 J

1lg, A galvanometer of reqist44ce 99 Q requires 5 mA current for full scale deflection' It can

be converted into an ammeter of range 0.5 A by connecting a shunt resistance of

99 O C64d5$ der n'o5o'5;'5$$o Br:e5$o =o3-ei eri:S{$5'r: EoSo'CS 5 mA

Idcg6 $:a"Xr"$J) s'$E$c. o"CC 0.5 A ec$d5$$ (range) eo5c3C':dcn" 5J'dc3

doscer"Cs s'$sis$ &ocl P6adSr:

(4) 3o(1) 1O

AM 2015 D

Q) 2a (3) 4f)

47S

w
w
w
.e
en
ad
up
ra
tib
ha
.n
et



119. Two concentric coils, of 10 tums each, are placed in the same plane. Their radii are 20 cm

and 40 cm and carry 0.2 amp and 0.3 amp current respectively in opposite directions. The

magnetic induction (in Tesla) at their centre is

a,S';S}o"CB l0 r.iccoc .Je Bo6J 15 €ogd* &r, .Jcoe$c a,€ ,J.,od aodqc

er$oo.;dc. ;.e3 a"gld$l:ep i dc.o rr 20 cm bcO o5r: 40 cm, Sc6 cU.:: o.C o"eo"

0.3 amp o Cdc55 $ged5 adoe$ $:$""u-.X:oo.;o:. o-C

fodeo Co:S (B*dl

3(z) i po

.7
(a) i po

I20' A non-conducting ring of radius R has charge e distributed over it. If it rotates with an
angular velocity o, the equivalent current is

\ 
a"g+ts* rle e.s eeo'{r'd{p soc$oolo ed{o q aero6-r$6. epa or $eicsc

dr{5c:56 [CSceaS,l d"oS "lAo, *yco5 AAcgS gXro,i:.!p Cw$

,,, Q'
2rR

$dcbn" 0.2 amp ScO o5c:

do165o S{ ercUc};od

5(l) ; uo

9(r) 
apo

(2) Q<o G)# (4)
Qor

2n

- n,.ai\)
)>
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CHEMISTRY

tzt.

ffi'^'cH(cH3)'?
Drug (I)

' . Sco 6c (I)

The above Drug (I)

(1) Antaci$d.

is aa example of

(3) Antidepres sard-

-o 5co 6c (I) - -- --- ---$ 5c 6.o-"o. d ea

(l) ee5! c64dSsD

{3) o"gJcoo' C64dSSr:

(2)

6)

nalgesic

Antiseptic

.s"al S6a{55.r

$s.u co"6sso

l22.The correct order of reactivity of the following iodides in Sru2 reaction is

S"2 15dgef gSoa 5arp5"&;", x)oEbs .5o.g&o6, Lds:o

H3ccH2cHFH2i (ii) (H3c)3c? (iii) H3ccH2cficH3

I

oq^ \/

t*)
(1) (i) > (iD > (iii)

(3) (ii), (D r&<

Rgugh Work

AM 2015 D 49S

w
w
w
.e
en
ad
up
ra
tib
ha
.n
et



123- CH-

ln'a\'ll )-\Z on

x
Identi$ X, Y and, Z.
X, Y 5cO c6oo Zo$c

x
(1) m-Cresol

\ ,, m-g3&e5
"s' Catechol

doSe'
(3) o-Cresol

o-13J"5
(4) Resorcinol

o$0pSc5

Y

r{c6oQ;$,r,
Y

Catechol

€oSe5
Resorcinof '

0J03,$e5
Resorcinol

0&03$e5
Catechol

decs65

Z
Quinol--
39,$el

Quinol-
Bg,$cf
Catechol

€o$5
o-Cresol

o-gB#5

124. Identify Z in the following reaction

$o6 r5dgef Z$.: r{co5g5cr

@
(2)

@

(4)

2 H3ccocH3 +ryq Z

H3CCH2CO24-

2H3CCO2Iv-

H3CCQCH2CO2H

cocH3

NH. OH
I25.H,CCH2CO2H 

A -*- Oa-,
What are X and Y ?

X 5.:0 o5.p Ye> btz

(1) H3ccH2coNHi'-
(2L HICCH,CN

/t H;ccH;coNE{'

dti-
^ ., A- 

\<---."

s^q
.\'(. .t9

c\b^

H3CCH2CH2CO2H

H3CCH2CONH2

H3CCH2CO2H
(4)

Rough Work
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A
.t

Bt,

(2) (5'9:','

Y

9ocH3

\-cocHr
-,,\

u)
T
Br

\THCOCH.
I

r-Y
Br

IHCocH3

a
Br

NH,

+

NH,

-\-'

L)
Y
Br

THCoc/, ",..'..ryor:r, "..".)$n,AO V Y
(4) d** #;"':'

Br

(I{3CCO)rO

Pyridine "o655

Identi$ X, Y and Z.

X, Y Sc0cUo Zo$c lfc0oQ;$o.

NH.

o

(1)

x

locH3

T-COCH3

o

H.CCOOH' (Major)
([x)e'.S)

H-y 

-_,2

Ro[gh Work
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A \\1"'
,-fu

l27.If thestandard molar enthalpy of formation-of CaO(s), COr(e) and CaCOr(s) ,"'-6,2,
and -1207 kJ mol-l respectively, the A, Ho in kJ mol-l for the reactioir

cacor(s) -+ Cao(s) + cor(e) 
" 

{:.9}
Cao (6J), CO2(-') ScO c$:r CaCo3(6J)e: g'(: s,:-ca B;.o-6 5oi{rea Joq-03o.:

5dcbn" -635, -393 $.:EcUc.: -1207 kJ mol-r esoDd,

CaCOrr(2cl -+ CaO(6c) + CO2(;.),5d55c A. HokJ mol-lod
(r) s6s @1 zzts (3) +17s --@f ;-7e

128. If the K,, of a sparingly soluble salt, ArB, in water is 1.08 x I 0-8 mol5 L-5, its solubility
in mol L'l is

a.5 eo31o.5 eB c$c oSeoo, A3B23 Sddf K.n, 1.08 * 10-8 mols L-5 cpood, o"C

g"$e8OcU mol L-rcrd

N. to-: e) :o-2 (3) 1.08 x 1o-2 (4) 1o-r

129. At a certain temperature, for the equilibrium Hr(g) + Ir(g) =- 2HI(g), if the equilibrium

concentrations in mol L-l are

lH2(c)l : 0.20; [Ir(e)1 = 0.20; [HI(g)] = 2.0, its K" is

mol L-roet' tH2(o")l :0.20; [Ir(a-)] = 0.20; a-)l = 2.0 ePo.::d, o"S K.
(1) lo (2) 0.01 100 (4)

130. Hydrogen resembles alkeU_rnglals in many aspects

-!8/utdtutti, 
characters (2)

(3) Sulphide formation (4)

3.g66a5 o.e.:. SdS: g"deyfrse$ dr605e$c

r5.:-'o"oc o 6 ?

<1> d'o"{o"3o5c 5Ofl 6o6cro

(2) eiB 35o5c 563d,5ero

{3) 5pp6e.:Sc 5d36.5ero

<41 XrspSo$c 5d3d'5oo

but differs in

Oxide formatie#.

Halide formation(.

555d.:"oco6 s.5 d$d SSo.C1

\-?
I^ 4

>-7

v(^+
):-l

S 'r-
=4[s *to

\-sn"

a.5 CQ".r 6*,trtd ${ Hr(a.)+12(n")+2HI(o.) $$e."o0d, "oSco"h8 o"{de.::

*",*o$*
3q

-6>
9r -\1=Y ^*s-

l' 68 v rt-*

AM 2015 D \
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A
compound135. The IUPAC name of the following

\\ a-)ydioxy- 5 -me.lbylihexa n-2 -yte

(2) 2-oxo-5-qglhyl-hexan-4-ol

(3) 3-hydroxy-2-methyl-hexan-5-one

(4) 5-oxo-2-methyl-hexan-3-ol

g3oa 5dc3d5o FrS?, IUPAC o-Sco

r I > 4-11 1o'83-5 -5cpe5--":- C35 -2-e"5

{2t 2-es.3-5-5opcl-=.r.335 -4- i"e5

t3) 3-11p"83-2-5.lp 5-=o"€35 -s-4"5

(4) 5 -er s") -2-Scp e5-=o. t35 -3 - t"5

136, Which one of the following statements is not conect ?

(1) Alkanes undergo halogenalion by.free radical mechanism.

(2) Ethane exhibits conformational isomerism.

(3) Sodium acetate on heating with soda lime gives me;!!ane.

(4) Electrolysis of sodium acetate giyes-meJhane.

gBoB D$deood 5a "ooo:$6 s'dc?

(lt e+B3,Soc -ogu'; 
@3X:6d .5o"9 Cq-So

(2) &dS ep5cd,:-b $d;{5o5c 1r>dopQoa

(3) #6c$co J"odd5c ll{o"E5cd d& d'g

(4) i{6cSco J"">dc5 DdrEasdAeoef 5c$55o

eL)

o"g o. $sde5Sdeao BoSoo'o::

5cQ55c aQoa

q

v
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A
137. Which one of the following statements is correct ? s$r

(1) Deactivating groups are ortho and para. directing groupg(

(2) Reaction of benzene with l-chloropropane and anhydrols AlCl:-EJles n-propylbenzene

(3) Electrophilic substitution of benzene takes place 'tia(c-comple/' /
(4) Cyclohexadiene is an aromatic compound 

\_-ofr=l

13o6-D$6eaod 5a foPr:sal S
(1) C6c$ad i>$l"$too eeof ScooJc: Jo' J-5 SE{S 5$}'$6ql

(2) Eod55c 1-g6641iF'd5 5c0c$':: C{er AlClroS '5d5 
a0"o$i>ydr n-@r}:e5

Eod55c aQo6

(3) Eod5ef JoffTfuOS 1b8$Sea "5d5 o-(>oB!ro o'5o' ad':dod:o6

(+) l>f=o"S3ada5 a.5 ero"5.r'e35 X>dca#So \ (] t'l

' 
138. A compound is formed by elements 'x' (glions) and 'Y' (anjonsl Gt: "ltt' 

form cubic

close packing (ccp) and ions of .X' occufy all t!::Xteb{$voids. What is the molecular

formula of the compound ? !,
e,5 6o.dSlr, 5$.os.el) 'X' (s.OcS;.Se:r) ScO c$:r 'Y' (erScEJ'ScDloS 5d36oa'

e
'V' a.::!6 cpc$:-Sw {>S1".re! i:c55;'dc3 (ccp) SdJd$rP, X 6::56.epc$'l-Sc::

urg"-.:-1a& dole'oC1ou3C*esl5loor5cdco'lor:. X>o"{S.:: *5}r,ereac}dc3er 56t

(li xY2 (2) xY (3) x2Y3 N xrv

ro"Seooef .5C a:.O z,t"rJBroer? il8*v-:^' ) \olA\

irl o.ssS< (2) 0.e87 (3) 0'e61 'q <8 (4) 0'e4s 
'l(+fl\a{-:' 

{ ", J* '.jL- q d=K

139. The density of 20Vo (w/w) aqueous KI solution is 1.202 g mfl. What is its approximate

molality ? (molar mass of KI : 166)

20%(wlw)Kl eo 1o.$eo-q; $o1de5 1.202gmL-l. o.s 6gr"o,:rofu Er.er"oeS Jo61

tKI 6::53 Bler'6 1655o"A = 166)
uo

(1) 0.5 m (2) 1.s m (4) 2.5 m
q

140. An aqueous sucrose (molar mass = 342) solution is labelled as 20Yo wlw.What is the mol!r)&

fraction of water in this solution ? tqc)

a.S (>u.1$ilta;"o'6 15$go"3 =342) eet 1o'$eo"c1 ,o!fl:&5':'so':"d': fl
ro.$eooef ,5di EJ"6 et dBroer 2 Wn t'--:-' \ t$V

q0
*o Y*u y -Y" (L" oL

(:
l*a

9
Io,o.z ro

M
f

55 S r_q _: " \--"Y- 'v \--0 6 LoO

qt
,+\ 1 Iv.r__ ,
AM2orsrA 
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A
l4I. The conductivity of 0.01 mol 11 KCI solution is l.4l x l0-3 S cm-I. what is its molar

conductivity (in S cm2 mol-l; ?

0.01 mol L-l.KCl 1o"$ ea-q o.{;. Sdgo 1.41 x 10-3 S cm-l. o-D E:. er"6 a-!:-d65o
(S cm2 mol I oef ) Joo5 ? ,
(1) 14.1 (2) 1.41 (4) 14t

(1) (A) and (R) are comect, (R) is not the correct explanation of (A)
(2) (A) and (R) are correct, (R) is the correct explanation of (A)
(3) (A) is not correct but (R) is correct

(4) (A) is conect but (R) is not correct

CAge5S* (A) : a,5 156g to: SbgUcr.p; (:o3:,n"635on" 5,"g6$ Cdo>orj$Ef,on,C
o.C dcogo doJca6S di.c6c5 bScddeoo Soo6 Co.0otJd$.:r.

*l*:(9 
' 

a,g .5o.5[55;.o5$o Jo!p6.: O, r, 2,3 $E a,S lrg.oto.
ad SOEcS "o$;.g.55.r:
(1) (A) SDoctu (R) o: (>06>5&, (A) $ (R) bo6)S C$dea s.d:
(2) (A) ScEcSo (R) oc (:o6c$S, (A) Sc (R) X>06:J i$dea
(3) (A) 50E$56 s.5:, s.C (R) bo6)S6
(4) (A) 506)56, rC (R) (r8d:$6 s.c5:

143. The order of coagulating power of pol-, sol-, and cl- in the coagulation of a qositive sol is

a,S

F
(3)

dr"dd $e5 X>6odSod, pO;-, SOi S.:0c6.r: Cl o ,o;od5 $s.:{5
Pof- > soz- > 61- (2) ct- > so]- > roj-

15$oo

I44.CaCOr.MgCO, o, X+y+Z
What are X, Y and Z in the above reaction ?

lo r:dgOf X, y bJoc$,:: Z er: bDr
XYZ

gL Cao
q CaO
(3) Ca
(4) CaCo,

cl- > Po3- > (4) so?- > cl* >

' 0'6\Yloo,)t^.-<
'l'\) -t- t"

3
\'Vtxlo<\ua
,^0Ltv

MgCO, CO.
MeY 2C6"
Mg 2CO:Mqr cor'

Rough Work iu l@
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145. Match the following

List-I

Oxoacids of PhosPhorous

(A) Meta Phosphoric o* $\fl
(B) Pyro Phosphorousd.\1u,, .*
(C) Hypo Phosphoric BYlr^
(D) Hypo Phosphorous 

A 1\-- - u

""-- 
6 '

]k
g3o6;r"d30 e 6 i: dc',Jc$c.:

a"Do"-I

*Spd5 esS;er"oE

(A) &dr" il&poE
(B) 3)d Q"53d5

(C) l. dr *#po5
(D) -o.irt JSrdS

'q/

The correct match is

aB "o06;$ 5$rq'5$o
(A) (B) (c) (D)

(1) (v) Gv)-- 0I) (D

(2) (IV) (u) (I) (ID
-..-(3) (ilr) (F0 (tl) (I)

-4t <vt r$ or (D

List-II

Oxidation State of PhosPhorous

(D+4
(u) +1

(III) +2

-w)+3
(v) +s

a*0e-II

$5 rd5 es8rddea "o&
'$rn/Q

(D +4

(ID +1

(III) +2

(IV) +3

(v) +5

o

rL

146.In which one of the following reactions, a

$oa 5 'xdgef, 16 5 g{.:.5 5o'o5o

(1) NqSq + Cl2 + Hro -s{
(3) 2F9):o4 + H2So4 + Cl2 --)

il
6

16 group element will get precipitated ?

eesg"n6sroe5roa ?

yd Nu;4o, + cl2 + Hro ->

(4) So2 + 21zo + q1-+

(tY (r)

Rough Work
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147. For the first row transition metals, the Eo vSlues are

Eo v Cr rr,l, {JfF" co
(M2+/M) -1.18 _0.90 _1.t8 _0.44 _0.28 *0.25

What is the reason for the non-regularity in the above values ?

(1) non-regular variation of ionisation enthalpies

*{different number of electrons present in M2* ions

(3) non-regular varialion of ionic radii 
I

(4) the variation in densiries of transitiqy#uls
a6u3 gde6 "":OSdS dfrr., Eo & e.p$ el $o6 C{orr 6 r,IoD

EovcrMnFecoNicu
(M2*iM) -1.18 -0.90 -1.18 _0.44 _0.2s _0.25 +0.34

io SeJSor a,S gSicod dgersso,pg sdeoo 5!c6 t
(1) eecsr5gdea JoE"0;oeS $;-dc; a.S F$c irded dgdre$do

(2) M2' escUJ.Srref DCd bopgd Jos-75oco6bo

(3) cac$J.pg o"5$o.ocf $.r.dc; e,( gSSc .odee$ dgdrrido
(4) X)0SdS Sr;.ss.o J.o$dd S..r"dcJc.r>

Cu

+0.34

148. Which one of the following complexes has more magnetic moment value ?

$oa "oo8;r"oc$ dCS JSc;$ ero$c$;od gy$c5 DscS Sodc?

(i) Terylene

(iii) Polyacrylonitrile

(v) Polyvinyl chloride

(,) rFe(c;;r; \^J ,r, ,:lp,d;,'";;,f;;i'";; lcoFurj

'2vL-i
149. Identify the addition polymers from the following

(ii) Polypropene

(iv) Nyloy{

13oa a-dd boSeS $O$;6sSc rfcoo{p$,::
(i) EoOS tii) &o1dnsoS (iii) +oJ-B ldpoed (iv) Be.r"S
l) 

$), 
(iii). (v) (2) (it. (.1) *[i 

til.@F
6 (v) &OeEef

Rough Work
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150. Which one of the following has tw(gp-clucose ,JR/
2*fMdrose (2) 

t

(3) Celluloy{- (a) Lactod-_

$oB a.cJet' 5A oodc ct-D-rl:-$f c$.::'Cb5c d08o5'r:$16

(1) $J"gff (2) bol$f

. <31 -ooogcff <41 e;.$5

15I. What is the volume (in mL) of 0.5 M NaOH required to prepare one litre of 0.2M NaOH ?

a,5 $od.: 0.2 MNaOH $c .Jc6*dcdc$.:r65c s'$s"o5 0.5 MNaOH i:csir6sreao
(mLed) Joet?

(1) 200

152. Three students namely A, B, C have done an experiment two times individually, for which

(3) 400 (4) 250

1
I

j

(>Arr(o 2

(g)

so"g$ A

Do"gQ B

Do"gt c

J$0 1i:6.rt(
(1) B

1.95

1.94

2.01

Cel5sl o'X>5on"$c,

(2) A

1.93

2.05

1.99

5l)pdom5c 6 -)oD.

(3) A and B (4) q
A $c0 c$o B

the correct value is 2.00 g. Thglggql5-qq given below

(g) (g)

Student A 1.95 l.g3 \O - ' tr -- M tULYtu\ -
Student B 1.94 2.05 2 (-O 

^ * n,S X
Student C W 1.99- \"Y:- z' - -

Whose results are accurate and precise 1 '8
A, B, C er$c So:r(cd.: So"gdceu a,5 $:6:"n"S1 D&D&n' Sodcldc dld; ec

gX>6o-n"CS erX>ei. Car$ 2.00 g. 1{:A:,d Soo$e:'> 13od a$5ar650

1$Arr{o I
(g)

Experiment I ExPeriment 2 o. )-ffi-&--

Rough Work
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153' The gas that liquifies first, when coored from 500 K to its critical temperature given inparenthesis is

500K $co6, Scod056eaod ai3a65
J"osxpa: &)6$ LdS{Dor5JS 6
lRi NH3 (405.5 K)
(3) N2 (126.0 K)

X:o 6rf aff prf e5$o o.o5.::g5c &uJ 0 gUeoSo

co2 (304.t K)
02 (154.3 K)

154. Which one of the following statements is zol correct ?

155. Which one of the following is not cofiect ?

11] I"*"1 
charges help in the selection of the rowest enefr structure of molecure.(2) Formal charges indicate real charge separation within the molecule.(3) Formal charge of each atom of polyatomic ion can be carcurated.(4) Number of unshared electrons on the atom is also considered for calculation of formal

charge.

$o6 a-e3d 5a Sodc$a s"6ct
t1) ftd3e5e.Qo. ee dSc6$ {Br(e.: ceeac Co.3ea.Cydc0o15o_CS 6X>d,.d.ods"o.r:
12) ftd36 e-Qo.: eeac{ofS Ca .'r-Q Dqya$1c X*:r+o",
(3) Dir"a 6d$;-eaod epc$.r.SdC gf>e i>d$.r"eac$g, +4O +_QC EB3.o.Jf 

"5og(4) +dad t-CS E.lo$ccr.: .odb;.eo:g iod aJ; f>o.,.Ic$a:dD Jos_25o$c
5.r"o. 6(:dc-B &dc

(1) For ideal gases, compressib,ity factor, Z = 1 at a, temperatures and pressures.(2) Viscosity of a liquid decreases with increasing temperature.
(3) The order ofroot mei

velocity (U*-) of 
" 

I.'?:1T 
*y:1o (u''')' average velocitv (uu,) and most probable

(4) The kineric"Jnergy Jl u gu. iT'i*."rll, o"#fion,.nrr ro remperature (in K).51 19oa Csdsae:d ba X>oao5a s.ari 
'

(1) caD) 6#trfd, 5o6u.e: 5d erd6p o.o5.::$o{c bob6S dceaSo, Z= I ergdco6(2) L6$o 'o1n,el, a#1{eyd =odcifc6og6}i.).) Uarrifuoa
(3) &g o.cU::$, dn"o 

.Sper.bdeD 
$d Er:.s dtf $cc (Urms), $are::drlo (Uuu)

5:0cUr: r{O$ 6oep5gs. drro (U.r) o 15$co, U.r,, U";,I U,no
(4) ?"9 a-cSo r{&a{S, 6ffOd <fodi5, Co!b.r.$c}eroef *oepo6

(2)

(4)

Rough Work
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156. The dipole moment of BF., is zero because
(l) It is a covalent molecule
(2) It is a tetra atomic molecu@-
(3) It is having trigonal planar geometry

(4) The electronegativity difference between boron and fluorine is more

BF, 65{;5 [zJ-So5o CerS 5o5;. Jodcd5n-
(l) aa b$od:.aSc[o eeoc$

(2) aa o-erdc {)d$J-eac$oo5y ereac$

(3) a6 g8*ea i>5c"5o ar"gfuO 5Ono5,::5;6

(4) d'o"S; ff05o $c{g a::ea $ .Y er GD cJSJID

157. The first ionization enthalpies of llow the order __.n\ a_
.r)

F<O< N

158. The metal which can form an oxide having me.tal : oxygen ratio 2 : 3 is

db?r: _t8:-S*, DASQ 2 : 3 r{o erE355c 5d3U.:c .dir.o
(l) srlLo-1 (z) Ntoz( (3LBu. (4) Bi

159. The ground state energy irQ, of hydrogen atom !i -X. The minimum energy in JJcquired
to promote an electron fr6-m n = I to n = 2 in Heo is

3r1a6a5 bd$.r'eocQ C*8"* d$ joet' -X.He+ d n=1 ScoB n=25c Jos'75

X:05d5o dc$co"SS er${g$or$ SC[r {B'J'od
4X3XX(1) 3 @ 4 (3),

160. Hydrogen spectrum gave a series of lines at 
#, * 

*a 
# 

., -l 1R = Rydberg constant

in cm-r;. These lines belong to /'" 
-"

(1) Balmer series (2) Lyman series (3) Pfund series (4) Paschen series

5R 3R 21R ,r

(R= O5 a:6 "o o-o 55.p cm'l er.S) 6r Adcr: dCg X)oooOoOSA?

(4) 3X

<ll a:-5c6 $e3

(3) fuE t-{ot

Rough Work

(2) p5c5 LdeB

(4) +:r 5 1He3

(: ---

(i '- - (3'C

rK)
"-L,-/*i

U= t,-y!c L6i=fi
t{o. R)<_ :)/

\r\
V *s-(4,;r-- _\ 1 " 0'ay/ ;\r".

- 
\ '{-\-

?^, q

2.4'x3 
I

(_+
6-:
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A B C D A B C D A B C D

1 4 2 1 3 55 3 2 4 4 109 2 3 4 4
2 3 2 4 3 56 2 3 2 4 110 2 2 4 1
3 3 1 4 1 57 3 2 1 4 111 4 3 4 3
4 1 3 2 1 58 4 1 4 2 112 4 1 2 3
5 2 3 1 1 59 1 2 1 4 113 2 2 1 3
6 2 2 4 1 60 3 2 2 4 114 3 2 3 4
7 4 2 3 4 61 3 1 1 4 115 4 1 3 1
8 4 1 3 2 62 4 3 1 4 116 4 3 3 3
9 4 3 2 2 63 3 1 2 4 117 4 3 2 3
10 2 1 2 1 64 3 1 4 1 118 2 2 1 1
11 2 1 4 1 65 2 2 2 2,4 119 3 4 3 1
12 1 4 1 4 66 2 1 2 1 120 1 1 3 4
13 1 4 1 2 67 2 4 1 2 121 2 4 4 3
14 3 2 3 4 68 1 3 2 1 122 3 4 2 2
15 2 2 3 3 69 4 1 3 4 123 3 3 2 1
16 1 4 3 1 70 3 1 4 1 124 2 4 1 4
17 4 1 1 4 71 3 4 2 1 125 4 2 4 3
18 3 1 2 2 72 3 3 2 4 126 1 1 2 2
19 1 3 4 3 73 1 2 3 2 127 3 1 4 3
20 4 2 2 4 74 3 1 2 4 128 2 2 1 2
21 2 2 1 4 75 3 3 2 4 129 3 4 3 3
22 3 4 1 3 76 4 4 2 1 130 4 3 1 1
23 1 4 4 4 77 1 1 1 4 131 4 1 1 2
24 4 4 4 4 78 3 1 4,2 3 132 1 2 3 2
25 3 2 2 2 79 2 3 1 2 133 4 1 4 1
26 3 2 1 1 80 1 1 4 4 134 2 3 1 2
27 4 3 1 1 81 1 4 2 2 135 1 4 2 1
28 4 3 1 3 82 2 2 1 4 136 1 1 3 4
29 2 1 1 3 83 1 1 1 4 137 2 2 4 3
30 2 2 3 3 84 3 3 4 4 138 1 3 3 2
31 2 3 3 1 85 2 1 1 1 139 2 4 4 2
32 2 4 2 1 86 2 3 4 1 140 3 2 3 2
33 3 1 2 2 87 3 2 2 2 141 4 2 1 4
34 1 3 3 2 88 1 3 1 1 142 1 4 4 4
35 1 4 4 4 89 1 1 1 2 143 1 2 4 1
36 2 2 2 1 90 2 3 2 2 144 1 3 1 2
37 2 1 1 2 91 4 1 4 2 145 3 1 4 4
38 3 3 3 3 92 3 1 4 1 146 3 3 1 2
39 1 4 4 4 93 3 1 1 2 147 2 2 2 1
40 3 1 2 2 94 1 2 3 4 148 1 1 3 3
41 3 1 2 3 95 2 2 2 1 149 3 1 4 1
42 3 1 2 2 96 1 3 2 1 150 1 3 4 1
43 3 4 1 4 97 3 2 4 4 151 2 3 1 3
44 2 3 1 1 98 1 3 1 2 152 4 3 2 4
45 1,3 2 1 2 99 3 3 4 2 153 2 4 2 1
46 2 2 4 4 100 3 1 2 1 154 2 1 1 4
47 1 2 3 3 101 3 2 4 3 155 4 2 3 2
48 2 1 2 4 102 2 2 2 4 156 1 3 4 3
49 3 1 2 4 103 2 4 2 4 157 2 2 2 1
50 2 1 2 1 104 1 4 2 2 158 3 3 1 4
51 2 1 4 1 105 2 2 1 1 159 4 3 2 4
52 3 1 2 1 106 1 1 1 2 160 1 2 3 1
53 1 2 2 2 107 1 4 4 4
54 3 3,1 3 3 108 3 4 1 2

Q.NO.
CODE

Q.NO.
CODE

Q.NO.
CODE
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